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I1.

)
-7 T ® ? A § aHensy |
arerar
SRR & W e forRay |
U3 R & ? A9 B uA & A oy |
arerar
ATB—PHAT 3R ATHITAT H &I R ferRaay |
RTSTYTST Ud ITEHTST H 3R e BHIfTY |
arerar
3Mpreft ¥reg f’t dEd € ? T SQIERVT QIfTY |
R vreg &1 I AHET § P
arerar
faemrad ST o el St S A & aweT T ufasm @ ?

grs ‘9
et ST g 3x5=15
T TSI ATHG FERUT BT AR 319 Il H f1Rau |
arerar
forTe @1 faft =T cliv—dberell W) U ey forRkay |

ced gU' UHia] H Al T uRe™ ST For aoir H SH! YT Tehd]
I Y |
aferar
RE DI SYAAT TR YHT STfery |
gracil Al Wi WR T ey falay |
aferaT
TR T B 7 3Te8 UTHUOT 1 faRwary forfag |
RISTHTYT &1 Faenfe Rerfa & aq=msy |
aferar
AT B IGIIANAT TR GBI SIfeTT |
¥ BT IR HRd §Y BRI U o 1 fARyed qarsy |
aferaT
A SR i wR el St & a1 fa=R o ?

OA-151-S

ROl NO. ceeeeereeenecceeeeneecneenee

OA-151-S
B.A.III Year , Supplementary exam. 2020-21
Subject - Foundation Course
Paper - I
(fgunh Hkk"kk vkj ufrd eY;)

. M.M. 30
Al - 9 U g PHIIT |
grg I’
IR U

1. el fqhed &1 a9 S - 1x5=5
(i) W AT H o9 d | fbd 7 & gRepHr By off ?

(a) T AT @ (b)  HET AT @

(© PBIRT BT (d) T o
(i) SIS U A ®

(@) 3% |EA (b) = |rE

() I AT d) = PR TR
(i) &l AcT wef FT ' ?

(a) dUAETS (b)  FRRITS

(c) HTerdr d) e
(v) < & g ergess H 2= &I IO & w0 § WIeR By 1= ?

(a) 343 (b) 345

(@) 347 (d) 349
(v)  goee B A R

(@ S b) SASTH

) R d dgod

grs ¥
Y SR U 2x5=10
2. ARd |7 © ? U fow e vaferd € 7
arerar

HETaR ¥ 37U T [ § ° &I IRV |ied qHssy |
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Why did velan leave home ?
OR
Why was velan proud of his position ?
Why was it still winter in one canon of the garden ?
OR
What is the message of the poem "The Song of Kabir' ?
What is want by the rule of the road ?
OR
Why should we respect the rights of the small people ?

(Section-C)
(Long Answer Type Questions)

. Do as directed (any five) : 1x5=5
(1) Youareastallasl. (Change into Negative sentence)
(i1) No other teacher is as able as he.

(Rewrite using comparative degree)
(i11) Ikilled two snakes. (Change into active passive voice)
(iv) Riyaisbeinghurt. (Change into active voice)

(v) The pilarim said to Rohit, "I an going away tomorrow".
(Change into indirect narration)

(vi) Umesh asked me if I had read that novel.

(Change into direct narration)
(vii) Ispeak Hindi. (Change into negative sentence)

(viii) The chess game has (all ready/already) started.

(Rewrite using the correct word)
(ix) (He'll/Heel/Heal) be here in a few minutes.

(Rewrite using the correct word)
(x) Use the following words in your own sentences.

(vary, very)
Write a report on the 'Annual function' of your college. 5
OR
Write the importance of narrative language skills.
Write a short note on 'E-mail'. 5
OR

Drafta CV for the post of 'Manager' in Sky Finance Private Limited
Company, Sagar (M.P.)

OA-152-S

ROl NO. ceeeeereeenecceeeeneecneenee

OA-152-S
B.A.III Year, Supplementary exam. 2020-21
Subject - Foundation Course

Paper - 11
(English Language)
. M.M. 30
Note : Attempt all questions.
(Section-A)
(Objective Type Questions)
1. Choose the correct answer : 1x5=5
@) Why does the narrator stop his horse in the woods ?
(a) To drink Same ale
(b) To rest awhite
(©) To watch the snow falling in the woods
(d) To pick wild fruits
(i) The first fruit that Rati tasted was :
(a) Sweet (b) Salty
(©) Sour (d) Bitter
(iii) Who is the writer of "The Selfish Giant' ?
(a) Oscar Wild (b) Robert frost
(©) R.N. Tagore (d) Ruskin Bond
@iv) Piccadilly circusisin:
(a) New York (b) India
(© Scotland (d) London
v) Who was Rishi Swapacha by Caste ?
(a) Iron Smith (b) Goldsmith
(© Tanner (d) None of the above
(Section-B)
(Short Answer Type Questions) 2x5=10
2. What does the poet think about the woods ?
OR
Why does the horse give his bells a snake ?
3. Why was the cherry tree so special ?

OR
What did the poet see when he was trying to look at the sky through
the leaves of the cherry tree ?

OA-152-S
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OA-153-S
B.A.III Year , Supplementary Exam. 2020-21
Subject - Foundation Course
Paper - I11
(Basic of Computer & Infomation technology)

. M.M. 25
e - @ U g DN |
Note : Attempt all questions.
gvs ‘A'(Section-A)
g U (Objective Type Questions)
1. HEI IR G Y2X5=2">2
Choose the correct answer :
@)  3Yc fama T 8
Which is not a input deivce :
(a) Mouse (b) Lightpen
(©) Plotter (d) Digital camera
()  FrfaRed 3 & I a1 sifarfeT Rew 8
Which of the following is operating system :
(a) Windows (b) Unix
(©) Linux (d) All of these
(i)  Spelling check @< @ shortkutkey 2 :
Shortcut key of spelling check is :
(a) F7 (b) F8
(©) F9 (d) F1
(v)  TATE YR H BHA ?Bi%lr—g'zﬁwawﬁm%
Formula is Ms Excel begins with the sign....................
(@ = b  +
© - @
(v)  fr=fiRad § 9 & 91 99 ISoR © ¢
Which of the following is web browser :
(a) Mozila firefox (b) Internet explorer
(©) Opera (d) All of these

OA-153-S
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gvs ‘¥ (Section-B)
Y SN U9 (Short Answer Type Questions)

el URIRET gfe (CPU) & &1 forfan |
Write the functions of CPU.

3frar/OR
TR R 2 ? 39 IbR eIy |
What is scanner ? Write its types.
S’ &1 Booting process FHSISY |
Explain Booting process of DOS.

3frar/ OR
Rarsfrd faq o= dfera fewoh faRkay |
Write short note on Recycle bin.
ST 3R IRTUTH HRARCT BT AHSIRY |
Explain text and paragraph formating.

3frar/ OR
YA TS H AT ufhar o1 FHssy |
Explain saving process in Ms Word.
TH.OE. UdEe H Aol BHfST FaT 81l © 2
What s cell formatting in Ms Excel ?

3ferar/ OR
TS S AR Bl AASTSY |
Explain slide sorter.
VSAT @I 8 ?
Whatis VSAT ?

3fergr  OR
PHHYCY GRET R ey ool foafey |

Write short note on computer security.

gvs 9q (Section-C)
e S8 999 (Long Answer Type Questions)
fp=1 T amse ge fSama & IR # fofay |

Write about any three output divices.

OA-153-S

10.

I1.

3)

3ferqr ,OR
ad WA IR e fewof farkay |
Write short notes on work station.
TR Red a1 2 ? g9 Hrdl HT quie HIFT |
What is operating system ? Describe its functions.
3ferqr ,OR
BIgel 3R Bleex TR fewefl frRay |
Write notes on file and folder.
T, 98 @ 01 DI AT |
Explain Ms Word features.
3ferqr ,OR
TR Ud Fe} Bl auie S |
Describe header and footer.
TAUE. T H 91C I & & aRO DI AR |
Explain steps to insert chart in Ms- Excel.
3ferqr ,OR
qTaR @Ig< ¥ URIAIHROT g9 & ARV bl FHSSY |
Explain steps to create a presentation in Power Point.
Jee, IIgS, 99 IR wfera fewoly forkay |
Write short note on World Wide Web.
3ferqr ,OR
TR &1 € 2 S Hrdl Bl AHEsy |

What s antivirus ? Explain its functions.

OA-153-S
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I1.

)
grs 9
e ST ueA 5x5=25
TS eTd el @l faeryansii ol |aqeisy |
arerar
"HIIER B RT3 AR STa I 81 T 8 | 59 P BT R¥g DI |
BRI U= RIT & ? Bl d ST 84 dTel sl &l IbR &
T BT THAT IR BT |
arerar
IO R 8 ? Yreyo dY {9yl ol aHssy |
3TaTE & YBRI Pl IaTex0T aahR IRy |
arerar
RIS vreg fdt Ped € ? & Jsif=id aiRHIfi® vreal &l f<r @
3o # foRay |
THHIRAT BT IRATT P 8¢ $9a fafdel URi &1 forfRag |
arerar
"gotagifve WA 1 TN R BT 9aet faam B 1 woF o Rig AR |
URI ST HAR—ARZH & WUl TR TBTeT SIferg |
arerar
$—H U T YT BR BT UlshAT TR YT STy |
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OA-154-S
B.A.III Year , Supplementary exam. 2020-21
Subject - Hindi Literature

Paper - I
(FarorEs =)
. M.M. 40
Al - 9 U g PHIIT |
grs 3’
IRy
1. I /I I HITY — 1x5=5
() T fafredr waemes 2= @ faemar 2|
(i) STERIAT BT YBTI ST H BT B
(i) — fSTF T | orgaTe far AT 8, S e | HEd & |
(v) 'S AvE B BT Ugel SR & |
v) A gy "AeaH B |
s ¥’
oY SR U 2x5=10
2. RTSSHTYT 3R ST # 3R T HIfvTY |
KDL
ITeE AN (@S URIRTT) @RI 7 7
3. aRuz a1 2 ? gaal faeman faRay |
DI
LT BRI FHY b+ 91al BT e H AT =10 |
4, 3rgare &I gl Y |
DI
o orsl @ R ®U # argarg BIfTg—
Registrar, Contract, Agent, Convener
5. IR ATfefcad ufSeR & 9 9 S99 dured! & A foRkau |
DL
TB—oull 9T § ? faRag |
6. f$AT BT Sfiaw R w1 g9 geT ? fiRav |

AT

=T oRgT 9 fobar Sirer ® ? sy fagwany foRkav |
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OA-155-S
B.A. III Year , Supplementary Exam. 2020-21
Subject - Hindi Literature

Paper - 11
(Hindi Natak, Nibandh Tatha Sphut Gadya, Vidhayan)
. M.M. 40
e A 9T gl DI |
s I’
IRy
1. <@ e ghn 1x5=5
@) ¢d W Aed HT TGS DI 8 2
(@)  NETd (b)  ¥p<IC
©  ==a d  weR
(ii) 3MeEETS oRgdh Pl ATH g8y
@ g9 (b) TR oA
(c)  ®fa SF® (d) N g g
(i) PR fbw faur # foredt 1€ Bfer B 2
(@)  UdIDI (by  ACH
(©) ERSE] (dy  ®sF
(v) el W] BT AS Bid B HET o1 g 2
(@) e (b) WG YIFA AT
© 90 (d) gt e
V) HOUT e o dh BT 19 RIT § 7
(a) MR BN wATE fga<dl (b)  warit uare s
(c)  Tar THe= gad (d) oM AEdR wNTE fgadr
grs ‘¥
Y SR U 2x5=10
2. Alcd @ &F H AT B BT e W femoft oy |
arerar
A TS & IR Bl a1 Ay forRau |

OA-155-S



10.

(2
AMeegvs &I AYNTT fagredrg faRay |

arerar

girer Sferd & e UR YT STfely |

AT YA HANSl B B Alad R FEd H YBIT SIfery |
arerat

4. HATAT AT Dl Ui Hicdl & 74 forRag |

O D PSP A faRay |
arerat

79 9Y 9 5 geR = 8 2

gy {48 gaer & Ial @1 O faevang faRag |
arerat

MY BT & gractl AR BT A faRivamy forlay |

grs 9|
o s weA 5x5=25
gd A b1 IR =T B |
arerat
AT 9 AN I H 9RO & 97 IR © 7 T DI |
HOUT Bl IR fadR ¥ Farsy |
arerat
Ue @1 FHem BT |
o=l Uil & SgHa R fAB™T IR YHTer Sifery |
arerat
gcll @l IUQifordl BT IRFd <l gU S faRIvarail W Yahrer Sifor |
e TR S AR HIfTI—
Ig a1 ReR SR fAfdare € b st &1 fawz foxit 7 foeft wu
¥ Afcad didet & B ¥ | o1d: BouN SR Ifeadhar o ey 3 91
3R N Rig 2rar 2 6 Rl g3 &1 TR IR o0 el 4xF iR &l
BV BR dlel UR HgT Ica—~ BIl & |
arerat
"SI H T BT AUS IS 1 Bl 2, AT | gA 9T ST el
# Trewerax RA | R A IR IR @R SR | 7 9 fa gar
BT SbT N 39 T B o8-l Bl Tl SR | RIS 0T 91 &
M & 2
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e TR Afed IR BIfoTg—

RIAT ST HTS A I, [ | A ST

IO} A3 e TS IS, Bi SAHIGT W

a7 < of <=< fRarh, ua @ar A <l

WY BT B ® $R, Udd 9 gola” g4 |
arerar

8 B AT AT WX 3M1g, G A 1 HORR

3R 91 foue arms it drell 89 g |

AR SR GH oTord, o 3 e |

& YdH Well, W &, sl Gl 3N |

dlc Mg AR =R I, #4181 319 H A1 I

DI ARY SFH S DI EIe], B gH 9T X |
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RA-278

B. A. (Third Year) (Final) Regular/Suppl. Examination, 2020-21
HINDI
Paper : Second
(&Y, ek, Frerer qonm wpe To-faud wd g=et T aifee )
Maximum Marks : 40

qT : gy FE F SW [ARVIgER T
Q|ue-'3r’
(IS UvT) 5x1=5
FiT : [AEffad g9 & W QT IAF FIT 1 HE F &

1. &t fasmed =1 =99 wifsu—

() ‘SR TR’ THin! fFE § H YHRRE g8 2
(31) 1885
() 1880
(9) 1881

(3) 1886

() T # 9 ®E-W I gt Thiwt w1 el T 2
(31) ==«
(&) A
CORIENE
(%) IHBR
(i) = TSR YO & e HWUE 1 AW F T2

[1] RA-278



(1v)

v)

(37) 3% & Fd
(&) fa=mfo
(|) yadt

(Z) 99 9

ee-@Ue el W T2
(31) 5gh

(&) =<t

(9) SR

(3) w¥a yEa wAS

‘SIIE’ TRl ok i@ §—

(31) THFER |
(&) fas gt
(9) SEgR FHg
(8) weHAwEm fag
Tug-'d’
(g ST ue)

FiT : gl g F S fITI IAF G 3 HH F &

‘SR T ek w1 Aed R & e 9 fawermm wifsw )

gt MYE Y TS T SHe-uREd < g 3 Hifgcd Fod W YRR Sl |

2. ‘Yol AEw YR W I=I[w sl ARE-far wifsw

AT

3. ‘Sg0’ ®t wIA FHl HI ISR Afgd THET HifT |

AT

[2]
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4. Teh TH THih! H < TR HIC |
Jrerar
T THe5 YFd 1 (oY el WM Th fewoh fafem
Tus-'|'
(- ITT o) 2x8=16
e : gl g F TR I TAF T 8 3B H
5. T =1 ufamm difSe wd fe<t frery & sfaee W fasr 9 wehmn eifee

e
Tk F 1 qd 2 AeH F YW qwl i faeen s

6. 'IUSH’ THIH! F FUMF HI TGS FA Y U T H AR R fafaw )

arera

Il W F IeMd R TH Higw Fery fafam)
F-weyd wfea e 4+3+3=10
T : Y T & IR ST
7. ¥9-9d T9 UH 9, &l R FIH|

T8 T <@ B, Fog 7 H9 a9 |
Fifhcd aE, Teh 9, fved TE TH |
TP, <ifen, fama, sl 9 9% faaw

arera

TS TS © | @ 7 @ o fau 9w % fiRg @ wean e o fves w1 fam ) 99 g,
IRAl 9 AET €, q9 ITH W Y qofae SA-5T H A ISl 2

8. et W o it @ g Tt § Gl g off SE offelt H wewerRt AT | TR R I feeR S|

T WM R Ta 1 i TR M w39 el &l e s fadie - w6 gfe 7R, Sl #)
qfg ® 1 Tl A T AU T E
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AT

TR TS ST G ST € | 99 o 9% § fof W19 W®d 9, 99 ff 9 91 9 9| ST 7, oFd off e
T | I T AR S WA €, STkl 99 338 ¢ | ST R WIS | 3Te | 9 I8 HIRIA SIeel el Hehdl 2
F TH Hl TH-T I FR TET L Hehd, P T ........ ?

. T3 oA faU §UR ST S §, §ER @ #eA-gAd o fau g, anag § fREH A9 1 SER @ 9

g & €, S8 SueR SO A SRR ¥ 1 oAa: T |ri § ¥ fRE 1 R g, 3SR §UR % U U
Y T He SIAI A1 S(eF % Teh AT Skl @ived &1 S §

AT

T Q1 U111 S HEl A—a_Y T&1 fiqt i AR <@l | o o 97 9 R A4, i & fag = w28
3T =t o1d A GrEl, WA ki 91 TrE, SAH-UI90 i 91 Gl | S99 hel—3d € Jef = 1 ¥, e
g TR iR T | SHE 9w UG T, ‘W H I AT H @EE 7| g I S TS A
1 ET, g K| 39 el AR & M|
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RA-279

B. A. (Third Year) Examination, 2020-21
HINDI LITERATURE
Paper : Second (Optional)
(f&=t <treas, Traer qen whe e faend ud aEett Wt arfed )

Maximum Marks : 40

Tie ;. gy T GUSl F T [AGVIGAR B FIGG | Sl @ G @uel @ e fedr 5 @7 #
Qus-3H
(T8 we ) 5x1=5

e . gyl ge F IW T

1. =E faseq 1 ==q Hifsu—

() =i e feg fau % ygE @R §—
() e
(b) e
(c) smeraT
(d) ==

(i) Yo Aesh % T & AW P T 2
(8) ST =g HIYL
(b) *Rag

(C) SRR YdIg
(d) HIgT TR

RA-279 [1] PTO



i) ‘wHeon’ ey & @ §—
(8) THe= A
(b) 3 AR SISTAT
(o) &= ware fgadt
(d) weTei wHE fgeret
(v) Sfa8 9Ra @ §—
(a) afera ey
(b) TERo
(c) =l

(d) de=m

(v) Teig & < gum o §—

(@) foem wo woe
(ORERCESIECIES]
(c) Tl SR el
(d) wma wd fa=m
FCUES
(v ST w9 )

T . G4 g F I T

2. YT YeET & U i@ okl Sevd I § 2

AT

‘et e P T eI H T ?

3. fHeiy R TEifas # AR Ty wifau)
3Teqa

‘Feel v e favea fafew

RA-279 [2]



4. Tlo THAREY g & e W d&9 § faf@w|
srerar
IRAg eRwde & Sfed 99 W 489 § YT eifer |

TUe-q
(3rd swhT uvT)
5. (27) fr=fafed v & s ifse—

() 9RdS W M=a ‘ST’ Jgdd &l wuewg daq ¥ fafeu)
arerar

‘yaEaTEl Tk q%e Ted T fag wifem
(i) ‘o= @ SR SR it e T TH wUH HI GEia Hiftw

AT

‘TR = agd € 2 fey # e fourl @l ot vl § e wifee

(3) Ffafed § 9 ®E 91 W) feuoh fafge—  4+3+3=10
() SR = =Rfe o€
(i) & fagsii @1 3qwE AR fowm
(i) e TE B ARl Wl feRiva
(v) =l o @t Sysifaar
(v) weTedl ol

RA-279 [ 3]
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RA-280

B. A. (Third Year) Examination, 2020-21

(For Regular Students)
fe=<t Trees frerer qem wpe

Paper : Second
( TTer-faend ue ureret TSt At )
Maximum Marks : 40

T . gyl @9 @Uel & FvT (ARYIgER SW ST feiRa sid @vel & gger sifed g1

w|Ue-37
(Twafig ueT) 5x1=5
FiT : [FElafad gyt g9 & W FITT) TAF 97 1 HE H &

1. =& fameg &1 =99 wifou—
() = FES AN S @

W feg &S| X Sl

H Hohd §—

(a) U8 IMEF T hl

(b) TUSH =1 &Y ifa =

(c) SISt Ime @t sfoEwyul 95 &
(d) 9 § FE T

() A G ey Gwer 9K TR f5adt & g —
(@)

[1] RA-280



(b) 3TIH & e
(c) fo=m &R faas
(d) T g

(i) YT AT 1 AT §—

(a) 1922 %o
(b) 1927 %o
(c) 1933 %o

(d) 1921 %o

(v) O 9™ F A H AH §—
(a) S<a fHg
(b) SER
(c) =<d
(d) TR

(v) ‘=’ frery % orEe §—
(a) =T THES EA
(b) = T wER e
ORELEE
(d) BRI wEE

Tus-'9’
(g ST 9T ) 3x3=9
e : frEfaRgd e F IW FT) JEF T 3 SF F 8
2. EH W T WA T2 AeF & YW ql i fad=qn wife |
areran
Y@ifes Td §ER0 H S i |

[2] RA-280



3. 3 T eH Hl A Hell W YR S|

AT

‘yaeantit’ @ SR fasvarsti @l Wy St

4. g dra ¥ HeA H gqE vt oqEd |

AT

I e T F e e & faRvan fafaw )
w|us-q'
(et STl ue) 2x8=16
FiT ;. [AEfafad 3991 & I ST % F97 8 Al HT &1

5. Uil el & ddl o STUR W ‘rUeH’ Tehich! ot THIAT hifold |
3Teqa

T U5 YFA 1 Wiwm Sied 9R= <d U 3Tl Hary el W J&RT Sifag |

6. Mg &<t Mo e &% 3Iqva Ta foem W & ey fafau)
3rerEr

YHIE St o AEeh H Wil Sieit i faiard sard |

7. fo=l d9 T S SAren sife— 4+3+3=10

() oH STy T STEE| ST H T =TGSR
ffeR TR 98T 9IS | T HRfe o0e 3% &R
STHTYRY oAl 99 Q1| "M TS @d faeHn |l
T fgot gfa X A 1 g Jufa faeedt SR
9 9 H9 Gl G| N o'l 99 fawmi
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(i) Hd T [W HE Ui |
A UM AR o 7 W wRT
TH o TR TE W@ Bl Aig F A
TH A d §& TR Tsh AT S
T A frar w9 & & fau g5 & TR’
T St F A Yo H geRa e gl
i)y T aer I Fe = § 6 gesl 3 ol w1 T uy-grf THEeR 31 W TR H 6
ST o o §, 9% W Wiy T = Tohd1 | AT gH A8 6T T8 A Hhd S0 Fd i HAM],

T 1 TRE T = W A g o= off T | ha €11 81, q@ <l 6 emafa A s % fau
H o gt 9 el S

(v) T@ ® 9ot ¥ ygfa & =R & weon =1 et iy ¥ | e ? fSge ufa Sa= S §, SUE g9
I FE H I T | RN Gk fd IO T B ISR WA 1 Sun fRa S 71 R W
TE- B ol ST IS MR HA €| 3H YRR U H AR i SUSHI, §:@ IR < gl
1 Ao H @l St 2 1 T T Aoft H UE HE Yg AAIfIRR T § S U R WA h STl
HLA T
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OA-156-S
B.A. III Year , Supplementary Exam. 2020-21
Subject - English Literature
Paper - I
(Contemporary Literature)

. M.M. 40
Note : Attempt all questions.
(Section-A)
(Objective Type Questions)
1. Choose the correct alternative : 1x5=5
@) In which year was the Hollow Men Published :
(@) 1940 (b) 1941
(©) 1942 (d) 1945
(ii) Sylvia Plath is one of the greatest confessional poet's of the world.
(True/False)
(i) Rabindranath Tagore was awarded novel prize for literature in the year :
(@) 1915 (b) 1920
(©) 1925 (d) 1913
@av) '‘Cat on a Hot Tin Roof has................... acts.
(a) One (b) Three
(©) Five (d) Seven
V) Ruskin Bond is famous for writing.................. literature is India.
(a) Women (b) Listorical
(©) Children (d) None of these
(Section-B)
(Short Answer Type Questions) 2x5=10
2. Why is Eliot considered as a modern poet ?1
OR
Five your understanding of the their of the poem 'A Prayer for
my Daughter'.
3. Focus on the main idea of the poem 'Night Mail'
OR

OA-156-S



2)

Write a few merits of the poetry of Sylvia Plath. 10

Write a short note on R.N. Tagore of a poet.

OR
Summarise the signification of synbolism of cat used by Tenessec
Willians in 'Cat on a Hot Tin Roof'.

Write a note on life and works of APJ Kalam. 11.

OR
How does Anastya son reflect Tagore's almiration for Japan.
Write a note on the prose style of Ruskin Bond.

OR
Why was the astrologer reluction to tell the stranger about his life ?

(Section-C)
(Long Answer Type Questions)
Explain following lines with reference to the context :
This is the dead land
This is cactus land
Here the stone images
Are raised, here they receive
The supplication of a dead man's land
Clader the Twinkle of a fading star
3frar/ OR

Locke sark into a swoon;
The Garden died;
God took the spinning Jerry
Out of his side.
Write a critical appriciation of the poem Autumn Song.

OR
Analyse Sylvia Plath as a poet by giving appropriate illustrations from
the prescribed peoms.
Justify the ending of the story Kabuliwale by giving valid arguments.

OR
Write a critical appriciation of 'Cat on a Hot Tin Roof'.

5x5=25

OA-156-S
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Comment on the main ideas contained in 'Patiotism Beyond Politics
and Religion from the "The Dignited minds".

OR
Analyse Anastya son as a writer on the basic of "Tagore and
His India".
Write a character sketch of Rusty as present in the story "The Room
on the Roof™.

OR

The story 'An Astrologer's Day'is full of satire. Discuss.

OA-156-S
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Write anote on the system of education propounded by Mahatma Gandhi.

OR
Attempt a summary of 'Will and Testament' by J.L. Nehru.

Attempt a character sketch of Tughlagq.
OR

Write a note on the themes dealt by As if currimbhoy in Goa.

Sketch the character of Ramanad the grocer in A Pair of Mustachio's.

OR
Discuss the use the symbols in the story "The Mark of Vishnu.

What part does man's mind play in life.
OR

Describe shortly the theory of bhava as propounded by Bhart Muni.

(Section-C)

(Long Answer Type Questions) 5x5=25
Write a note on the major themes of Indian Writings in English.
OR

Discuss the origin and development of Indian Writing in English.
Critically evaluate Jagore as a poet.
OR
Analyse the poem 'Krishna' by Sarojini Naidu.
What is basic education according to Mahatma Gandhi ? Discuss.
OR
Discuss the two main points which J.L. Nehru discursed in his will.
Evaluate "Tughlaq' as a historical play.
OR
Write a detailed note on the style of currimbhoy in Goa.

Attempt a stylistic analysis of the short story, 'A Pair of Mustachios.
OR
Discuss the theme of the story "The Mark of Vishnu'.

OA-157-S
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OA-157-S
B.A. III Year , Supplementary Exam. 2020-21
Subject - English Literature
Paper - 11
(Indian Writings in English)

. M.M. 40
Note : Attempt all questions.
(Section-A)
(Objective Type Questions)

1. Choose the correct answer : 1x5=5
@) 'A Love song from the North'is a poem by :

(a) Nissim Ezekiel (b) Sarojini Naidu

(©) Rabindra Nath Tagore (d) Kamla Das
(i) 'A Pair of Mustachios' is a humorous story by :

(a) Mulk Raj Anand (b) Khushwant Singh

(©) Jhumpa Laheri (d) R.K. Narayan
(i) Mahatma Gandhi was firmly in favour of the principle of......... inIndia:

(a) Western Education

(b) Vocational Education

(©) Drawring and Painting Skills

(d) Free and Compulsory Education
@iv) "The Mask of Vishnu' by Khushwant Singh tells the story of :

(a) Ranga Rajan (b) Gunga Ram

(©) Kunwar (d) Ramanuyan
(V) The India English Drama begain in the................ century :

(a) Fifteenth (b) Sixteenth

(©) Eighteenth (d) Twenieth

(Section-B)
(Short Answer Type Questions) 2x5=10

2. Attempt a critical appreciation of the poem, 'An Indian Love Song'.

OR
Write a summary of the first song of Geetanjali.
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Roll No. ..cuueerennercnnnecnnnee.
OA-158-S
B.A.III Year , Supplementary Exam. 2020-21
Subject - Sanskrit
Paper - I
(frar 2= amevor R W fasm)

. M.M. 40
Al - 9 U 8 PITT |
grg I’
IR uE

1. REREETS ?ﬂéﬁi : 1x5=5
(i) STAITaIT # e &

(a) 18 (b) 15

(© 25 (d) 5
(i) AT UF YT 7

(a)  BIIITE (b)  gHITE

(c)  ATIHRIRTA (d)  <Eifae g
(i)  Pomfg # Harg Ifdfa 2 :

(a)  I¥ Afmar (b)  IHAIIRY

(c)  WaR™ d)  gRfeR o =R
(iv)y B B I8 BT B8 O[T © -

(@ 39 b) =

(©) - (d) B
(V) TS &1 ST fhar o ®

(a) gT wuf (b) NIERSEl

(c) U= wui (d) IR wUl H

grg ¥
Y SR U 2x5=10
2. ST & fEiiT ST & MR W H & W@y DI ISy |
arerar

STATaHTT & fgeia g &1 ARt lay |
3. AT BT URE <d U IS 373 BT g BIfTY |

OA-158-S
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arerdat
AR & SR WR IOi BT aRey SfTY |
Horayg BT A uRed ST |

arerdat
HOTUEE & I e Pl a8y |
e @1 aRvmT fafag |

arerdar

S Uy B Ry A |

AT B GRS fored g3 SHd WUl I T DHIFT |
rerar

Ug fhd ®Ed € ? U8 fhds YR BT ' ?

grs 9

e ST g

T 2l o T aRT BHIfTe—
P HHE Fe. & [Vl ° HYIEH |
YW ufcReT® gerrsiaRyE | |

AT

T Bl e HeTgHTaT

ST IR e Uig Al |
EARIBIRY THed

qooitg AT BfER gfewern | |
3relIferRaa eatis &1 waa ef ferRay—
R g MR |9 darEad ot |
AT R FaHd 7 R | |

aferaT

Uit v are =qgell = T |
T |l T2 A dare | |
=T Tcld &1 FaY SRR BHIfT—
RIS CRERPRICIRERIREIT

BT~ 99d B |
3Gl fe: emeadrsd gRIol

T & M RN | |

OA-158-S
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5x5=25

3)

arerar
SRISd ST urey a_Te e |
R g1 AR g | |
o & I foel T & gRaIT SHINTY U9 SeTexer Aftd |aHessy |
(@) @ IR Y I
@ g7 u
) NENIECR D]
@ I
rfuRac @ faemall & sfavfa seffavar W usrer eifery |
arerar
aref gRacH fer wed € ? 1ol uRads & dRol &1 forlay |
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ROl NO. ceeeeereeenecceeeeneecneenee

OA-159-S
B.A.III Year , Supplementary Exam. 2020-21
Subject - Sanskrit
Paper - 11
(P, B Td IAABR)

. M.M. 40
Are - 9T U 8 BT |
s I’
IRy

1. ffaRad defeqd UeHl &I g HITY | 1x5=5
@) fRRTATSAIR HEThTe @ HAT FHal o ol T8 7

() MO (b)  XgRM

(c) HEMRA d)  Rreuraaes
(ii) SARFARTH fhaa! T+ & ?

(a) qreHifd (b)y  @IfeleE

© u= (d e
(iii) AT HETHITH HAT §

(a) e (b) HTHS

(¢  dmd (d  pP
(iv) INIER: fHad o g ?

(a) BISSIRERINE] (b)  UREMEN ARASHY

(c) SITF®T Tl A (d) = I =
(V)  BRIH H Bl T A T

(@  d (b) e

c© 4 d <4

s 'q
Y SR U 2x5=10
2. iz i yaagfiesfa yofedfior G o1 W< B |
arerar

TRARTRAH, A & w7 a2 ey |
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2)

3. "JAT I FAT AT, A GoidAl oI, S DI FUHT FHSS | 9.

3rerar
"FARFART AR 3faa &1 T ST |
4. UGOREg: Y, HIAAl BT ARIY U el § forfay |
3rerar
JoeTIfAea:’ BTl B qeR] T BHIFT |
5. e AT Hifceray R wler fewol forfey |
6. IICY Be SRAAT AU DR DI IRATAT I |

gus g
N ST g

7. Ty AR PIfTU—
foharg garu | AR Teq,

T G TarSToNanT: |
STAISEN &gAaT T T |
fed we IR = goiv a9 |
aferar
IR W) Gradl JeeT,
JGAE YA ThRATGIH
SCIENIKCHECE RN R
foRTsaT & g HRaar |
8. < R BIFY —
wart @t RiRfsiRofiaey |
ATITTATIAATBIOT TATT |
AT URAT AR 9oid,
AR gfcu=mT I[fLor aIoT |
aferar
31 REH: HIhERUS AT,
qeI g riierid a efordHfy |
ST YR fAdheAdRRRIARG—

foumar Afe iy aoRg geaH | |

OA-159-S
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5x5=25

3)

gy Afed AT HIfTg—
SRS INCICI R VIS RECIRCIRE
ST g B, gar dra gRerd: | |
aferaT
ggor g weRrEanian, RefdRa ag aroass = |
qRAIEHAUIGNT Ufithecdid AT 7 A< | |
¥R HETHIA URART TR T STefy |
aferar
¥R T B B IG9d Td BTN IR GhIRT STefy |
SENfIRET =< Td 3TPRI BT AL0T AT SETER0T ST |
@) o dIT J1qdT g |
@ U AT I |
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T AT MR 3T STHHET dTel G2 H TG AhAID B

HT RN IR BT 1Y |

What should be the basis of choosing technique of production in an

under-developed and over population country.

feaeR & e fadHr & gIiaRoT W s drel fHfed gral

B T P |

Explain the environmental implications of economic development.
3frar/ OR

TRITERUT TRETT 3 AT R § 7 GATIRT AReqo &l faf= faferdt forRay |

What do you mean by environmental conservation ? Write the various

methods of environmental conservation.

OA-160-S

ROl NO. ceueeereeenecceeeeneecneenee

OA-160-S
B.A.III Year , Supplementary Exam. 2020-21
Subject - Economics
Paper - I
(Development and Environmen Economics)

. M.M. 40
Are Y UeH g DIV |
Note : Attempt all questions.
gvs ‘A'(Section-A)
g U (Objective Type Questions)
1. HE IR G 1x5=5
Choose the correct answer :
@) anfefe fawra & am® © -
(a) UThfreh ATer (b) qIoTR BT ATIH]
(c) RERR TG St (d) S a
Obstructs the economic development :
(a) Natural Resources (b) Extensive Market
(©) Traditions (d) All the above
(i)  #VT FAEH BT B T -
(@) AT golt (b)  #Aifed gol
(©  od (d)  SUGH B TE
Human resource is called :
(a) Human Capital (b) Physical Capital
(©) Wealth (d) None of the above
(i) UL eUS 7 IUAT fAbr Hied HIUUH Hd WA fhar ?
(a) 1980 (b) 1985
(c) 1939 (d) 1982
When Porf. Harred has presented his firstly development model ?
(a) 1980 (b) 1985
(c) 1939 (d) 1982
@av) q9q fae SEEIE? P Y9 "cdh =
(@) S99 g (b)y  Rremvd o=
(c)  3TTBT Sfied Wi (d) ST e

OA-160-S



v)

(2)
Main factor of Human development Index is :
(a) Life Expectancy (b) Education and knowledge
(©) Good Livingn Standard (d) All the above
TgfaRoT | 3 B
(@  ¥ifde araraRor
(b)  Sfde araraRor
(c) Hifds g Sifde araraRo
(d)  Swfa w
Envrionment means :
(a) Physical environment
(b) Biological environment
(©) Physical and Biological environment

(d) All of the above

gvs ‘¥ (Section-B)
oY I U (Short Answer Type Questions)  2x5= 10
e fawm &1 e1ef e BIfTY |
Explain the meaning of economic development ?
3frar/ OR
oY AT qed ® 2
What is meant by Research ?
Plet AT & 3ffaRed Jou Rigid &1 aof= SR |
Describe the Marxian theory of surplus value.
gt/ OR
Yol IeUTE 3T UR Ueh fewof) faRay |
Write a short note on capital output ratio.
yqe W & RIgia o &I oM € 7
What is meant by the 'Big Push Theory' ?
3frar/ OR
ragferd faemm a1 aref forRay |
Write the meaning of unbalanced Growth.

<ifire fawmar &1 @ aref © ?
What do you ment by Gender unequality ?

OA-160-S
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31t /OR
AfRe AfITaoT & a7 e § 2
What do you mean by women empowerment ?
qafaRvT YGHUT & MY AT FHSA & ?
What do you understand by Environmental Pollution?
31t /OR
TITIRYT UGNl & YR foIRay |

Write the types of environmental pollution.

gvs q (Section-C)

e ST 999 (Long Answer Type Questions) 5x5=25
faeraefier <uif @1 Jeryd faerart aarsy |
Describe basic characteristics of developing countries.

31t /OR
fa@r & anfdfe ik ARenfe HReT @ fadesT S |
Describe economic and non economic factors of development.
WRA H AMG A e W) ey oy |
Write an essay on human resource development in India.

31t /OR
I & AR Mfdfe e &1 faf= ey 9arsy |
State the different stages of economic growth according to W.W. Rostow.
Hqferd fadRT A 3MTT T FHSK 2 ° Hfera [ o aawr fafay |
What do you understand by Balanced Growth ? Write problems of
balanced growth.

31era1  OR
ENIS—SITR & Hisdl Pl AFIdRI Pl FHSMST |

Explain the Assumptions of Harred-Domar Models.
AfRe FfIaa<oT 2 T S drel {9 wRisH $19 | & ? 9Rd

H wfgen Fefdaaxer & for) gema g |

What are the special programmes in India for empowerment of woman ?

Give Suggestion for empowerment of woman in India.
37erar/OR

OA-160-S
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BTl AT B ANTHD Td 0D UI&eT BT I&TER0T Al fddad BT |
Discuss the additive and multiplication model of Time series with
examples.

3frar/ OR
fr=ifha eGB! A fheR & AT FaATHid B ITOET DIV |

Calculate Fisher Ideal Index Number From Following datas :

2001 2011
CESY qa AT qa AT
(Comnodities) | (Price) | (Quantity) (Price) | (Quantity)
A 4 20 6 10
B 3 15 5 20
C 2 25 3 15
D 5 10 4 40

IR & ART 7199 &1 ISRV Aied fadem ST |
Discuss the law of addition of probability with example.

3frar/ OR
AT DI b TSl A U BT AT U S7TH Wiee Dl TRl Siid HIfory |
Find out the probability of coming an Ace or an Queen from a
pack of cards.

OA-161-S

ROl NO. ceeeeereeeneceeeeeeecneenee

OA-161-S
B.A.III Year , Supplementary Exam. 2020-21
Subject - Economics

Paper - 11
(Statistics)
. M.M. 40
Are Y UeH g DIV |
Note : Attempt all questions.
gvs ‘I'(Section-A)
g U (Objective Type Questions)
1. HEI fqey geax foray - 1x5=5
Choose the correct option :
@) RGP B ST Tl I & 7
(a) BN (b) Mewhigs ATh-dTel
(c)  Teed (d) 9=
Who is the founder of statistics ?
(a) Marshal (b) Gotfried Achenwal
(© Galton (d) Bowley
(i) THPb Hebeld & T RT & 7
(@) e aHe (b) feds w5 a
(c)  uIW® wd fgdiigs dHd (d) 79 & DIg T80
What are the source of Data collection ?
(a) Primary Data (b) Secondary Data
(©) Primary and Secondary Data (d) None of these
(i)  IfT AT 15 Ud 30 B AT fa=RoT oM @=r 8T 2
(a) 25 gfoerq (b) 50 ufcrerg
(c) 60 Ufcerq (d) 40 ufcrerg
If standard deviation is 15 and mean is 30 then what will be coefficient
of variance ?
(a) 25 % (b) 50 %
(©) 60 % (d) 40 %
(iv)  UITOITHEA BT IMfead 1ef Rr g ?
(@) SN ge1 (b) O e
() SR T (d) T aE
OA-161-S
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What is the verbal meaning of Regression ?

(a) Go ahead (b) Come back

(©) Climb up (d) Jump down
I URGT BT fd Fava A vl fvar S 2
@ H b) H,

© H, @ TG FE
Null Hypothesis is represented by which symbol :

(@ H (b) H,

(©) H (d) None of these

O

gvs ‘¥ (Section-B)
oY I U (Short Answer Type Questions)  2x5= 10
AR 1 gRHTYT BT |
Define statisitcs.
3erar/OR
=qTeel | 3T 9T FES © °
What do you mean by sample ?
T I MY R FHS B ?
What do you mean by Mean ?
3erar/OR
HERIHT H AT T TS & ?
What do you mean by median ?
TE—WdY 9 MY I A & 7
What do you mean by corelation ?
3erar/OR
TRITOT ¥ 37T T R § 2
What do you mean by Regression ?
HTe AT faReryoT | M9 R FH & 2
What do you mean by Analysis of Time series ?
3erar/OR
abid BT URAIRT PR |

Define index Number.

OA-161-S

3)

TR 1 IOy gRYTST ST |

Write mathematical definetion of probability.
37erar/OR

UR&GSTT | AT FIT TN & 2

What do you mean by Hypothesis ?

gvs q (Section-C)

e ST 999 (Long Answer Type Questions) 5x5=25
AT & BRI Td Heed Bl fddam BT |
Discuss the function and importance of statistics.

31t /OR
e Heper ol At @ g S |
Discuss the methods of data collection.
Bl UgT & 3MTGe AT AT Bl IRV Aed f[adaT SIS |
Discuss the ideal measure 'Mean' of Central Tendency.

31t /OR
Fr=Tifhd T | ALIHT ST DITSTY
Calculate median from following datas :

Ui (J ofe)h)| 0 10 20 30 40 50 60 70
Marks (Above)

mfﬁw 100 91 78 67 44 30 18 8
No. of Students

3FRJRES H YA @ AT WR Uah Ade foaRag |

Write an essay on "Application of Regression in Economics".
37erar/OR

3R U4 WiRGDH! & UTiTh| H dlel [UIT BT Ae—Hae Tolid

ST IR |

Calculate Karl Pearson's Coefficient of Correlation from the following

data of marks in economics and statistics.

aﬂgaﬁw 10 20 30 40 50 60 70 80 90
Marks in Economics

TiRega & uTdis 45 40 50 60 55 65 70 80 75
Marks in Statistics
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Roll No. ...cuaeeeecceeeeneeeennnnne OA-1 62_5

B.A.III Year , Supplementary Exam. 2020-21
Subject - Computer Application
Paper - I
(Web Desingning)
M.M. 40

Are Y UeH g DIV |
Note : Attempt all questions.
gvs ‘A'(Section-A)
g U (Objective Type Questions)
1. el IR DI FI9 DI - 1x5=5
Choose the correct answer :
i)  <TITLE>........ <ITITEL> 27 & 37X &1 91y |
<TITLE>............ <ITITEL> tag must be within.
(a) Title (b) Form
(© Header (d) Body
(i) <TD>............ <ITD> 3T &1 IR fbar ST 2 |
<TD>............ <ITD> tagis used for :
(a) Table heading (b) Table Record
(©) Table row (d) None of the above
(i) <RT PR BT ol § yRafda o1 & forw I 2
Which is true to change the text color tored :
(a) <BODY BE COLOR =RED
(b) <BODY TEXT =RED>
(c) <BODY COLOR =RED>
(d) None of the above
iv) XML SXITaST &l MSCYC <l ST bl I
Output of XML document can be viewed ina :
(a) Word Processor (b) Web browser
(© Notepad (d) None of the above
(v) ¥ gelie & SoRe |1 & RifRa a7t & forg fs| CSS o7
BT SUANT faar SITar 8 7
Which css property is used to control the text size of an element ?
(a) Font style (b) Text-size
(© Font-size (d) Text-style

OA-162-S



2)

gvs ‘¥ (Section-B)
Y I U (Short Answer Type Questions)

el Arse & Ut BT HAHSISY |

Explain the publishing a site. 8.
3frar/ OR

I BT A1gC BT FHRY |

Explain the Government site.

R 8 Td g 5 DI qHSY |

Explain paragraph breaks and line breaks. 9.
3frar/ OR

9% UTIVE Pk Pl I AT AHSNSY |

Explain background color with tag.

$H 3R T 8 ? AASTY |

2x5=10

What is dream viewer ? Explain. 10.

31erar , OR
e 9 P |AsSy |
Explain the Net beans.
A ST Bl ISTEX0T Afed AT |

Explain the image tag with example. I1.

3frar/ OR
8|$LNI(E’1.UO E?% JhIX HHSATSU |
Explain types of hyperlinks.
Tel?l iR T 7SSy |
Explain flash publishing.

3frar/ OR

SHE HH Bl GHSISU |

Explain Domain names.

gvs q (Section-C)
e S 999 (Long Answer Type Questions)
99 U 91 2 ? 99 UST & dcdi Bl AASTRY |

What is web page ? Explain elements of a web page.

5x5=25

OA-162-S

3)

31t /OR
wfeh Td SRFIAG d9 drsc bl Jasmsy |
Describe the static and dynamic web sites.
BT a7 8 ? 30D &0 B qHSEY |
What is fonts ? Explain its features.
31t /OR
ENIGICd g~ Ud Yells(-1T Cave &I FHENSy |
Explain Horizontal lines and aligning text.
HTML TSR Td 2T fore &1 |\sigy |
Explain HTML editors and heading lists.
31t /OR
<o 3l Rufele Ud TRE FHolR T 9SS |
Explain splitting the text and text color.
HH T 2 ? Qe U Bl A |
What is frames ? Explain animation effects.
31t /OR
HTML ¥ <fddt &% g9t € ? S&T8R0T SR FHSIEY |
How to create the table in HTML ? Explain with example.
HADIST ISl B I TAT GIR B DI FH3MSY |
Describe the creating and editing casecading style.
31t /OR
e IR wfera fewoft faRag -
Write short note on following :
@) Web hosting
(b) Analog Video and Digital Video

OA-162-S
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IRRE ATBIST &7 37 fIRa iR sHHT Aed FHSS |
Explain the meaning any importance of viral marketing.
TS geas BT aRad <Y |
Write an overview of Google Adwords.

3frar/ OR

TSaed URed WR feweft faRay |

Write a note on Adwords Algorithm.

OA-163-S

ROl NO. ceueeeeeeenecceeeeneecneenee

OA-163-S
B.A.III Year , Supplementary Exam. 2020-21
Subject - Computer Application
Paper - 11
(Digital Marketing)

. M.M. 40
Are Y UeH g DIV |
Note : Attempt all questions.
gvs ‘I'(Section-A)
g U (Objective Type Questions)
1. HE IR G 1x5=5
Choose the correct answer :
() AIHIET BT DI W BT e 2 foolied AT grar 2|
(@)  STalT=A (b)  HeA
© e d A PIE TE
Any form of the marketing that is............... is digital marketing.
(a) Online (b) Modern
(© Internet (d) None of the above
i) CMS & aef 2 |
CMS means.
(a) Content Management System
(b) Company Management System
(© Context master system
(d) None of the above
(i) @ 39 2 G <o B |
(@ e b) TR
(c) TS GATfoT SR (d) T TATAEOR
Itis a web traffic analysis tool :
(a) Google (b) Analytics
(© Google Analytics (d) Google Analyzer
(v)  BH FHI H 99 Whdl TR AT TREHR B g SUANT B dTel]

gexC HIB T |
(a) qRRA D e (b) govee
(c)  Iere wrafeT d =T A PR T

OA-163-S
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Type of internet marketing used to transfer large scale information in
short period.

(a) Viral Marketing (b) Internet

(©) Social Marketing (d) None of above
SEP &7 & 37 7 |

()  d o AMCIHTSOINH

(b)  Td soifdesd ARAISIH

(©) NENERSIIREY

(d) 7 ¥ BIg TRl

What does SEO Stands for.

(a) Search Engine Optimization

(b) Search Electric Organization

(©) Search Engine Organic

(d) None of above

gvs ‘¥ (Section-B)
oY ST e (Short Answer Type Questions)  2x5= 10
fafsrfaess @r 2 ?

Whatis visibility ?
3erar/OR
R a1 8iaT © 7
What is reterntion ?
gexe B o 918U |
Give Advantages of internet.
3erar/OR

49 |TSC B el FHSASU |

Explain the meaning of website.

e YA BT SUIRT garsy |

State the use of Google Analytics.
3erar/OR

e Tl HeAdord fpaferd STANT 81 & 7

What is goal and conversion used for ?

OA-163-S
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Hagd o fegex # siar forfay |

What is the difference between facebook & twitter.

37erar/OR
e ¥ AT (ST IR Sfer Are forfay |
Write a short note on Google+ marketing.
SEO @ &IeT & ? ¥eiq ¥ qweisy |
Whatis SEO ? Explain briefly.

37erar/OR

SEO & guTfdd &= dlel &l hacy qqssy |

State any two factors that effect SEO.

gvs 9 (Section-C)

e S 999 (Long Answer Type Questions)

fSoiledl AT P AR BT AHSSU |

Explain the concpet of digital marketing.
311 /OR

fafSfaed @1 UeRl & Arer FHesy |

Explain visibility with its types.

I9 FIR B JTURYN Pl I&TER0T Aid T3Sy |
Explain the concept of web server with examples.

31era1 ,OR

5x5=25

FAT § CMS BT STINT B 3T JgATSS A a1 b & 2

How can youn build a website using CMS is class ?
JeaTge H TAIIe® Ble Sire @l ufshar forfay |
Write procedure to add analytic code in a website.

3ferar /OR
fferRaa &1 |9y |
Exlain the following :
(a) Bource rate (b) Exitrate

AeTel Hedfdhi dgdge W Udh faxgd Are forfeay |

Write a detailed note on social networking website.

31erd1  OR
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OA-164-S

B.A.III Year , Supplementary Exam. 2020-21
Subject - Drawing & Painting
(History of Indian Sculpture)

. M.M. 50
e - @ U g BINIY |
Note : Attempt all questions.
gvs ‘A'(Section-A)
g U (Objective Type Questions)
1. Reaa I wRT - 1x5=5
Fill in the blanks :
() RO el BT SFI8RT BT 3TRH..c..oo BT T
The begining of Indian Sculpture starts from............ :
() 37D B T o AT T |
Among the pillers of Ashok...........c.......... is the best.

(i) AN D TRON W faw sifea 2|

(iv)  BHBTell AT AHS M. &7 98d 9T D75 AT |
The place name of Kankalti Tella was a big centre of..................
(v) g AR ARG # Rera 21

Chousat Yogini temple is situated at...........ccceeueueeee. )

gvs ‘¥ (Section-B)
Y I U (Short Answer Type Questions)  3x5= 15

2. R w11 @ Afcfwerr @1 aRag AR |

Give introduction of the sculpture art of Indus Valley.

3ferar/ OR

372l BT BT Ffclbell BT gR=T QI |

Give introduction of the sculpture are of Ashoka period.
3. HREd B el off AR HIRY |

Explain the style of Bharhut.

OA-164-S
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arerar /OR 9.
HRT DI DHeAT UR UbTel STfely |
Throw light on the art of Mathura.
TART & Red & favg |qHemsy |

Explain the sculpture thames of Ellora.

arerar OR 10.

3TSie @ fRred @1 gRey S |
Give introduction of the sculpture of Ajanta.

TGORTE] & Af-ax B e forfay |

Narrate the importance features of Khajuraho temple.

arerar OR 11.

PN I AER & RIed W garer SIfery |

Throw light on the sculpture of Kornark Surya Mandir.

MY AR Tl B G a1 9d18q |

Narrate the importance features of Modern Indian sculpture Art.
3frar/ OR

el U@ g wRA qfier & aafdda R folay |

Write biography of any one modern sculpture Artist.

gvs 9q (Section-C)

e S w99 (Long Answer Type Questions)
A Siieel ¥ U< qfodl W fawgd org forRag |
Write in detail about the sculpture of Mohanjodaro.

3frar/ OR
3TN HIel W=l R AR o fafag |
Write detailed article on pillars of Ashoka period.
A & Rreq @ @ S |
Explain the sculpture art of Sanchi.

gt/ OR
HYRT Vel TR AR Th1eT STfery |
Throw light on detail on Mathura style.

6x5=30

OA-164-S

3)
HETGClIgRA & Ried wR oig forfay |

Write article on the sculpture of Madabalipuram.
31t /OR

BT DI Bell TR YDl STiery |

Throw light on the Art of Gupta Period.

B RAT FETed AR & favg vd fasryant forRay |

Write the subject & important features of Kandariya Mahadev temple.
31t /OR

RIS AR AfFeR & Ry 31 arRan Iy |

Describe the sculpture of Chousat Yogine temple.

M TR Hcidar W frae forfag |

Write essay on the sculpture art of Modern India.
311 /OR

B2l <1 Smygfie IR et &1 Siadga faRag |

Write biography of any two modern sculpture artists.

OA-164-S
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OA-165-S
B.A.III Year , Supplementary Exam. 2020-21
Subject - Philosophy
Paper - I
(Modern Logic)

. M.M. 40
Are - w4 U g IfTg |
Note : Attempt all questions.
gvs ‘A'(Section-A)
g U (Objective Type Questions)

1. ffeRad @1 |8l Sirel 918y 1x5=5

Correctly match the following :
@) Tfl 7= o © - g dhaATRT

All men are mortal - 'E' Proposition
(i)  FB TI WoRf € - e &1 fafe

Some men are not mortal - Mill's method
(i) T 3RS P A A — 3 dAhaTRT

Relation between'A'and 'E' - 'O’ Proposition
(v) g fafdr — T ThHATRI

Method of agreement - 'A' Propostion
(V) S U9 fo, S ueemd — A e

Suject and predicate, both - Contrary relation

term are distributed

gvs ‘¥ (Section-B)
oY I U (Short Answer Type Questions)  2x5= 10

2. BEEIESACIRCIRCIE

Definition of Logic

3ferar/ OR

ezl ddary

Fallacy of false cause
3. RUeT qdharRr &1 Wwy

Nature of categorical proposition

OA-165-S
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3erar/OR
RIESICAIREACH]
Nature of Argument
T JIdg BT TR0 10.
Nature of Syllogism

3erar/OR
YIS 1 FeIdT ATROf
Truth table of conjuction
ARl hYIA 11.
Simple statement

3erar/OR

3y fafgy &1 wwy

Nature of method of Agreement
yTaded T fd FEd § ?

What is Hypothesis ?

312191 , OR
CEIRCARIEC]

Scientific explanation

gvs 9q (Section-C)
e S8 999 (Long Answer Type Questions)
AHdTd & WHY DI fIdF=T BT |
Discuss the nature of logic.
3frar/ OR
T U4 A Ugfad & Aed iR &l |HsTsy |
Explain the Distinction between inductive and deductive Logic.
JaodTaRIl # T[0T Td TRHATIT & FRAT BIFT |
Describe the quality and quantity in categorical propositions.
gt/ OR
RERIT R o BT FHeIey |
Explain the traditional square of opposition.
=R IRl & R B auiE I |

Describe the rules of syllogism.

5x5=25

OA-165-S
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31erar /OR
AT Bed Ud qeaar ARl @&F faqa=r STy |
Discuss the truth function and truth table.
AT UG AT Pl FHENSY |
Explain the truth and validity.
31erar /OR
forer @7 afore fafr &1 9vi= HIRTg |
Describe Mill's method of Difference.
dig T H M B WHY Bl WE By |
Elucidate the nature of Inference in Buddhist philosophy.
31erar /OR
TN & UBRI BT AHSEY |
Explain the kinds of Hetvabhasa.

OA-165-S
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OA-166-S
B.A.III Year , Supplementary Exam. 2020-21
Subject - Philosophy
Paper - 11
(Philosophy of Religion)

. M.M. 40

e - 9 U g BN |

Note : Attempt all questions.

gvs ‘A'(Section-A)
g U (Objective Type Questions)

1. |G T 3y foalag 1x5=5
Write true of False :

() WELUH. USaS & SR "gF—qT g P & wWwy, AR,
Tod AT FIdT Bl SRS @ 21
According to Prof. D.M. Adaward " Philosophy of religion is a
philosophical research of the nature of religions expendience, function,
value and truth".

(ii) 1. ATSCHA @ AR 'EIaTe &1 31 Id1 Tl 4 HIeTHBR B4 2 |
According Prof. Brightmen "By mysticiher is meant direct experidence
of what is believed to be divine reality".

(i)  3IRAT g BT YANT badd G D 1T F forar SIram 2 |
The word 'Faith' is used only cognitive sense.

(iv) 373 AT Hhed & GOUINT BT IR ¢ |
Evilis due to the missure of human free will.

(V)  HM9 gH BT AaR HETET Tl B 2 |
The idea of religion of man is related to Mahatama Gandhi.

¥us ‘T (Section-B)
oY ST U (Short Answer Type Questions)  2x5= 10
2. AT Sliaq H &9 & A Pl FAST |

Explain the importance of 'Religion'is life of mankind.
3ferar/ OR

OA-166-S
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farer= @1 ey @1 8 ?
What is the nature of science ?
g FRUerar o1 gRWIfT @ifoTg |
Explain the secularism.
3frar/ OR
g TR P AT | 9.
Explain the Religious Conversion.
gfg Ud SITHRT DI AN |
Explain the intellect and Intuition.
3frar/ OR
3riIeeRdre I URATNT HIFTY |
Define Atheism.

JITHT BT IERAT TR YHT STfeAU | 10.

Highlight the immortality of soul.
3frar/ OR

HIeT BT ATLROT BT NEEIEN

Explain the concept of Liberation.

JdYH o9 Bl qHIST | 11.

Explain the universal religion.
3frar/ OR

AAEH TG BT TS |

Explain Sarvadharma Sambhav.

gvs q (Section-C)
e S w99 (Long Answer Type Questions)
g BT T U9 IS 9§ Hae Bl qHSIRY |
Explain the relation of religion with philosophy and science.
3frar/ OR
g B [IRIRYdS AR BT |
Explain Religion'in deatial.
T TIT B ARAT P g SHBT ARIRIT 9T H ITD AR
Bl AT |

5x5=25

OA-166-S
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Explaining religious experience and explain its difference between
religions experience and ordinary experience.
31t /OR
NeH[cHD TJH] Pl NEEIEN
Explain the mystic experience.

IR & IIRAT @ ol & T el IRh DI AHSIST 3R IHD]

TRIET BT |

Explain and examine the ontological argument for the existence of God.
37erar/OR

SR & IfRA<d & ford A T Afdd b B Ay Td D

e BT |

Explain the examine the moral argument for the existence of God.

3ITHT BT IFRAT & Uel AR fauet d o T Tl Pl Weed: 9ISy |

Explain clearly arguments for and against the immortality of soul.
37erar/OR

3 B TRAT R & fH YHR HT IR a1 g ?

How does religion answer the problem of Evil ?

SR &AM &9 W U e oy |

Write an essay on Tagor's Religion of Man.
37erar/OR

f[Adeia & A9 g9 B TRAT BITOT |

Explain Swami Vivekananda's 'Universal Religion'.

OA-166-S
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“4)

Write short note on any two of the following -
(a) Mineral based industry (b) Forest based industry
HTHR T W) fewol fafey |
Write comment on Kashmir Dispute.
3frar/ OR
JTAHIOT & AR LTI TR Y Tl YHTAl BT HeH i HITOTT |

Evaluate the impact of Globalization on Indian Economy.

OA-167-S

ROl NO. ceueeeeeeenecceeeeeeecneenee OA-167-S

B.A.III Year , Supplementary Exam. 2020-21
Subject - Geography
Paper - I
(Geography of India)
M.M. 40

Are - w4 U g IfTg |
Note : Attempt all questions.
gvs ‘A'(Section-A)
g U (Objective Type Questions)
1. SEESHEECIRIE 1x5=5
Choose the correct answer :

(i) 1 ® I e Al ) T H e T8 ©

(@ (b) =
(©) KLkl (d) HEST
Which of the following river does not fall into Ganga System :
(a) Yamuna (b) Chambal
(©) Son (d) Mahanadi
(i) fhsg Srercs § BT U Il ©
(@) TS (b)  ERaTS
(c) foreme (d g
In which rock system coal is found :
(a) Gondwana (b) Dharwana
(©) Vindhyan (d) Kudappah
(i) 9RT H b Aeug F JAfEHdH RN AR BT © -
(@) | A (b)  argar =
(c) Asd IarTd (d) o Irarrd
The larger volume of International trade in India is through which means:
(a) By Sea Route (b) By Air Craft

(© By Road Transport (d) By Rail Transport
(iv) &% &I gfic I 7Y & A9 BT fer 2 -

@) (b) T
(c) <fern (d T

OA-167-S
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2)
The smallest distuct in M.P. according to area is :
(a) Rewa (b) Morena
(©) Datia (d) Guna

fAfoRad & B9 |1 5T Bk A4 fdare W He6fdT @ -

(a) IST eI Inygu<ee  (b) R TAT AHATTG,

(c)  DAicd aA MYUSY  (d) Pl JT AT,
Which one of the following states are related to Kaveri River dispute :
(a) Orissa & Andhra Pradesh (b) Kerala & Tamilnadu

(© Karnatak & Andhra Pradesh (d) Karnatak & Tamilnadu

gvs ‘¥ (Section-B)
oY I U (Short Answer Type Questions)  2x5= 10
RA BT Hifad uawl 7 frTd S |
Divide India into physiographic division.
3erar/OR
RA H aedrel A o faRiyam forRay |
Describe the winter mansoon in India.
Tt & A smee o faRay |
Describe three indirect advantage of forest.
3erar/OR
ARA H QST Ja e sl ® AW eIy |
Write the name of petroleum refineries in India.
AR H R SIS 99 dlel IR & HRDI HI foIRay |
Write the factors of the states of India having lowest population density.
3erar/OR
MR & TS g, STGH &A1 Bl quid BIfoy |
Discuss the main regions of cultivation of wheat in India.
HY. & AUATE A A AT FT FH 8 ?
What do you mean by drainage pattern of M.P. ?
3erar/OR
AU B B P ARwdRl wR gerRr Sifer |

Describe the agricultural qualities in M.P.

OA-167-S
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3)
RIS T 3 31T T g & 2

What do you mean by International borders ?
31t /OR

RO |1 gRadT &1 7 g9 © 2

What is impact of changing Indian ?

gvs q (Section-C)
" ST 999 (Long Answer Type Questions) 5x5=25
feATerd Udd &1 ST, FXaT qAT A8 UR UM STfely |
Write a note on the origin, structure and importance of the Himalyas.
31t /OR
URIEIT IRA & 9dTe O3 B fIaa=T I |
Discuss the drainage system in Indian peninsula.
IR a1 & A= 9T &7 faavor g |
Give an account of the different types of forest in India and explain
their economic significance.
31t /OR
R H DRI & IATGA AT fIaR01 &7 Wiiferd faavor g |
Give a geographical account of the production and distribution of coal
in India.
AR H il a6 SN & [IHT ST YWIfdd ST aTel HRET BT
quE BIFY |
Describe the factors that have influence the development of cotton
textile industry in India.
31t /OR
MRA ¥ SEEIT fIaReT R HIfde SRS & J9Tal BT JIdH DHIFTT |
Write impacts of physical factors on distribution of population in India.
Y. BT WIfae vcell 7 dicax B T &1 v Bifoig |
Divide M.P. into physical division and give an account of any one of them.
31t /OR
fereferRae # 9 forl a1 o fewoft feray—
@) T R AR ST @) BN W AR SN

OA-167-S
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B.A.III Year , Supplementary Exam. 2020-21
Subject - Geography
Paper - 11
(Environment And Resource Management)
M.M. 40

Are - Ue g IfTg |
Note : Attempt all questions.
gvs ‘A'(Section-A)
g U (Objective Type Questions)
1. SEESHEECIEIE 1x5=5
Choose the correct answer :

() "qATAROT 98 1 Tfad © S 89 wHIfad dxall © |

(a) g, T (b) ERG AR
(c) TS e (d) &Y sifdcH
"Environment is any external force which infuence us". This statement is :
(a) H. Fitting (b) E.J. Ross
(©) A.G Tansley (d) Hershkovits
(ii) Siq fafqerdr eres &1 YRRT waueH fhas faar o ?
(a) g, Rex (b) HUS
(c) S gdd (d)  dreex oL JARE
The word diversity was first used by :
(a) H. Ritter (b) Mendel
(© E. Haeckel (d) Walter G. Rosen
(iii) TRIIBROT BT GATGRT TR T G &
(a) CERERIE] (b)  g—e&rU
(c) o™i gfg (d) T A B TR
Main harmful effect of urbanisation on environment is :
(a) Deforestation (b) Soil erosion

(©) Population Growth (d) None of the above
(v) TSI gl sricre foa og 9 wdfta g ?
(a) RSNG] (b) e

[&Y

(c) I (d)  ®ACH
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2
The soil protection movement is related to which state ?
(a) Gujrat (b) Tamilnadu
(©) Orrisha (d) Karnataka
QITaRYT Ude & o Uge] & 7
@ (b) =
() =X (d  dE
How many aspacts of environmental management ?
(a) Two (b) Three
(©) Four (d) Five

gvs ‘¥ (Section-B)

Y I U (Short Answer Type Questions)

YRd H 3MUST Used & YTdl bl AHSISU |

Explain the impacts of disaster management in India.

31t/ OR
aTRRITT T & ™ TSy |
Discuss the advantages of study of ecology.
AT fadmrT &) SR F7 & 7
What is the concept of sustainable developlment ?
3frar/ OR
Sig fafderar & @av forfay |
Write the threats of Biodiversity.
SR gfg @ aAemr ffey |
Write the problems of population growth.
3frar/ OR
G BT YITaRl & foIg a1dd € 1 W I |

'Mining work is harmful to the environment', Explain.

HaT uResfa®! BT FHeEy |
Explain the soil profile.

3fergr  OR
ATISTE aifat & o foRag |

Write the benefits of social forestry.

OA-168-S
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3)
TYTIROT GRET0T T FhoU-] Bl AU |

Explain the concept of environmental conservation.
31t /OR

AT HRETUT DI Tl DI TS |

Explain the techniques of conservation.

gvs 9q (Section-C)
e S8 999 (Long Answer Type Questions) 5x5=25
UThfde Td AT TATGR0T & Hed IfRdy & AR BIfoy |

Describe the interrelationship between natural and human environment.

31t /OR
TRReIfAe! & Iufammil &1 goiF HIT |
Describe the sub divisions of ecology.
St fafqear & Jeai &1 fawga o9 S |
Describe the values of Bio-diversity in detail.
31t /OR
A9 W@ReY TR UATART & B dTel GoTal Pl HAHSISY |
Explain the impacts of environment on human health.
faeg & afenfrexer & ggiaroi g9mEl &I |Hssy |
Explain the environmental effects of Industrialisation in the world.
31t /OR
YAUSARI M09 & HIROT Ud JHTal dl T3Sy |
Explain the causes and effects of Global Warming.
IRA H a9 faTer & HROT U GUROMAT B fIa=g=r ST |
Discuss the causes consequences of deforestation in India.
31t /OR
Il & IR0 BT gaIfad HReT daTel HRDI BT FHSSY |
Explain the influencing factors of distribution of plant.
MR & HATE Yael Bl quie BIfoTy |
Describe the resource regions of India.
31t /OR
TITIROT HREVT BT HHed=T bl AASIRY |

Explain the concept of environmental conservation.

OA-168-S
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B.A.III Year , Supplementary Exam. 2020-21
Subject - History
Paper - I
(History of India From 1740 to 1857 AD)
M.M. 40

Are - w4 U g IfTg |
Note : Attempt all questions.
gvs ‘A'(Section-A)
g U (Objective Type Questions)
1. SEESHEECIRIE 1x5=5
Choose the correct answer :

@) TRA § $%¢ SfST HF- BT 9| URTSH Bt off ?

(@) W& (b)  wgfermeen
© W @  geh
Where was the first presidency of english East India company in India ?
(a) Madras (b) Masulipattam
(©) Surat (d) Hugli
(ii) AT vae o9 wRd faar T3
(a) 1773 (b) 1784
(c) 1793 (d) 1858
When was the Enactment of Regulating Act :
(@) 1773 (b) 1784
(©) 1793 (d) 1858
(i)  ESUHIT B AT F ESUT ST ATAT IS off
(a) ST (b)y  HART
(© R (&) o
The state that was not annexed under the 'Doctrine of Lapse' was :
(a) Jhansi (b) Satara
(© Nagpur (d) Awadh
(v) & AT & IV B [ IR ST=Rel BT IRTETT o7
(@)  @rafed (b) SRl
) faferaw s d =R

OA-169-S
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Which Governor General was instrumental in the Abolition of Sati :

(a) Carnwallis (b) Dalhousie

(©) William Bentinck (d) Hastings

Wl derawd 6 99 # o faar =

(a) 1790 (b) 1793

(©) 1799 (d) 1858

In which year was the permanent settelment implemented :
(@) 1790 (b) 1793

(©) 1799 (d) 1858

gvs ‘¥ (Section-B)
Y I U (Short Answer Type Questions)  2x5= 10
RIRTSTS RIS B o ?
Who was Siraj-ud-Daulah ?

31erdr , OR
JIR @ Jg W Afera feweft forfRey |
Short notes on the Battle of Buxer.
AT B
Nana Phadnavis

31erar , OR
fiew sfisar vae W wfera fewoh fafey |
Short notes on the Pitt's India Act.
SIERSSEN]
Lord Dalhousie

31erar , OR
I e 9T
Rani Laxmi Bai
TSI AR 1Y
Raja Ram Mohan Rai

31erar , OR
s faferaw dfes
Lord william Bentinck

OA-169-S
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)
RO CINREES)]
Ryatwari system
31era1 OR
g &1 frepraT W Gferd fewoft forfgu |

Short notes on the 'Drain of Wealth'.

gvs q (Section-C)
" ST 999 (Long Answer Type Questions) 5x5=25
FAlch & GUH & D BRI BT qUF DHIFT |
Describe the causes of first Karnataka war.
31t /OR
qId & JAd gE H AIST Bl Wi & HRoT falay |
Write the reasons of failure of maratha's in third Battle of Panipat.
e HHAer™d & UHE GURI BT 9o B |
Describe the main reforms of Lord Carnwarllis.
31t /OR
AY g™ & BRI Ud SUSARRIT BT 90id HIFY |
Describe the work's and achievment of Tipu Sultan.
HERTST 0Told (g @ gemafte &l o= sifsig |
Explain the administration system of Maharaja Ranjit Singh.
31t /OR
SRINI & R RAgid TR Uamer SIfer |
Throw light on the doctrine of Lapse of Dalhousie.
& WS @ W RAglal Ud SHa AMIfoTe GERI BT auie $HIfT |
Describe the main principle and its social Reforms of Brhama Samaj.
31t /OR
19 4 & # el @ Rafd W t& o fafag |
Write a note on status of women in 19th century.
A & R g=Iawd 31 ygd fIeman aarsy |
Discuss the main characteristics of permanent sattlement of Bengal.
31t /OR
HER FEN & ga- & Y@ RO Bl faRag |

Write the main causes of decline of cottage industries.

OA-169-S
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4)
M ST AR Ud 3 AT BT 9o BT |

Describe the Swami Dayanand Sarswati and the Arya Samaj.
3t/ OR
fafeer TRBR gR1 Afzersii @ Refd # GuR & fory o1 o fa 1 |

What measure were Effected by British Government for the uplifment

of the status of women.

OA-170-S

ROl NO. ceeeeeeeeenecceeeeneecneenee

OA-170-S
B.A. III Year , Supplementary Exam. 2020-21
Subject - History
Paper - 11
(History of India from 1858 AD to 1950 AD)

M.M. 40

qIe 9l ye & BIfTY |
Note : Attempt all questions.

()

(i)

(i)

(iv)

gvs ‘A'(Section-A)
g U (Objective Type Questions)
TE R AR 1x5=5
Choose the correct answer :

1858 H HAR—U—fewg &I UM | B9 F=1fad fhar ar ?

(a) TS P (b) I faaeRar
(©) TS fores (d) e Rud
Who was Hononred with the Tilte of Kaiser-i-hind ?
(a) Lord Curzon (b) Queen Victoria
(©) Lord Lytton (d) Lord Ripon
TS BT fINTSTT g g3l ?

(a) 1904 (b) 1905

(c) 1906 (d) 1907

When did partition of Bengal ?

(a) 1904 (b) 1905

(©) 1906 (d) 1907

WRIST T &1 ARATADH DI off ?

(a)  HAeTHIE HreAdl (b)  fRRSFE™

()  weTe el (d) < AT I
Who was the founder of Sawaraj party ?

(a) Madan Mohan Malviya (b)  Chitaranjandas
(©) Mahatma Gandhi (d)  LalalajpatRay
"qA g3 A &I, H e srairal I’ fhae waT o ?

(a) faftq o= drat (b) STaTeR ATl 8%
(c)  dea= s d) Y T= a9

OA-170-S
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"Give me the Blood, I will give the liberty" who said ?

(a) Vipin Chandra Pal (b) Jawahar Lal Nehru

(© Lok Manya Tilak (d) Subhas Chandra Bose
I ST & FRATID o

(@) IO A AR I (b) G RAEH

(c) UM< AR (d fagoEe

The Founder of Aryasamaj was :

(a) RajaRam Mohan Rai (b) Ramkrishna Paramhansa
(©) Dayanand Saraswati ~ (d) Vivekanand

gvs ‘¥ (Section-B)
oY ST e (Short Answer Type Questions)  2x5= 10
HERT fageiRar @t G &1 qoiF S |
Describe the decleartion of Queen Victoria.
3frar/ OR
e RuA & <R TR IR U STfery |
Throw light on the Internal Administration of Lord Rippon.
e Hoid DI BT BT qUH BIFT |
Describe the domestic policy of Lord Cruzon.
3frar/ OR
TR fagE W wferd fewof forkay |
Write short note of Champaran in Revolt.
e Meel AR IR wfer fewof fofey |
Write short notes on First Round Table Conference.
31rar/ OR
TRISY Tl DT IeTY T off ?
What was the Aims of Swaraj Party ?
3TToTTe fe=s Bisl | 3779 a7 |qHsKd § 2
What do you understand by Indian National Army ?
3t/ OR
IR e W wfera femft forRag |

Write a short note on Partition of India.

OA-170-S
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I T & RIGIATl BT Soeld BT |
Discuss the Tenets of Arya Samaj.
31erar /OR
fafeer @t # Afgen Rem T & fada=r S |

Discuss the Education Policy for women in British Rule.

gvs q (Section-C)
e ST 999 (Long Answer Type Questions) 5x5=25
e Rud & GuRl @ fade T SIS | MRd IR $+96T Y9F 9arsy |
Discuss the Reforms of Lord Lytton. State their impact on India.
37erar/OR
YRAT TSI BT BT RATIAT S HIROT gdTsy |
Elucidate the causes of Estabalishment of Indian National Congress.
qRA & T B STaleHl b1 AT auie S |
Describe Briefly the main peasant movements of India.
37erar/OR
1909 @1 ARATTIH B yigrg fArwcmail &1 goiF ST |
Describe the main features of the Act of 1909 .
Afd=a ST T_Ie Bl i goid BTy |
Give a verif account of the civil disovedience movement.
37erar/OR
TSl FRITl BT Hiared qoid BIforg |
Give a vrief account of the Round Table Conference.
AT )T & IRF U4 Afddd IR yHTer SIfery |
Throw light on the character and personality of Subhash Chandra Bose.
3erar/OR
AR RAFAl & fIH-IHR0T § TRER dTootd TS Ucd DI T o
fadeT I |
Discuss the role of Sardar Vallabh Bhai Patel in the Integration Indian states.
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I1.

“4)

HIXd ﬁf JMAPAIE DI THRT TR YHT9 \":II{?’IKfl

Describe the Terrorism problems in India.
31t/ OR

JeIHROT & I[U—SNT BT GO B |

Describe merits and demerits of Globalization.

OA-171-S

ROl NO. ceeeeeereenecereeeeeecneenee

OA-171-S
B.A.III Year , Supplementary Exam. 2020-21
Subject - Political Science
Paper - I
(Indian Foreign Policy)

. M.M. 40
Are Y UeH g DIV |
Note : Attempt all questions.
gvs ‘I'(Section-A)
g U (Objective Type Questions)
1. He! IR QY - 1x5=5
Choose the correct answer :
@) e Ruer NfY &1 SHeTar fe Fer S © ?
(a) gfveT TRl (b) ARRS TS
(c) U, O[dTeR ol gw (d)  HErAr e
Who was the father of Non alignment Movement ?
(a) Indira Gandhi (b) Morarji Desai
(© Pt. Jawahar lal Nehru (d) Mahatma Gandhi
(i) TR & QR AW 9T 7 2
(a) Rufectad =it arfdar
(b) Rufsetd 3% g arfdh™
(c) SIS fhisd 3if% Urfeeam™
(d) sie Rufedd e grfeem™
What is the full name of Pakistan ?
(a) Republic of Pakistan
(b) Republic of Islamic Pakistan
(©) Islamic Kingdom of Pakistan
(d) Islamic Republic of Pakistan
(i) — SMRE—AT H AadE BT 4= T ¥

(@ e (b) IR
© g d  dEas
Main conflict between America and China is :

(a) Bhutan (b) Korea
(©) Singapore (d) Taiwan

OA-171-S



(iv)

v)

2)

MR &7 Aferarery wef Rerd 2 ?

(@) STl (b) PG

c) &g d

Secretariate of ASEAN Situated ?

(a) Jakarta (b) Kathmandu

(©) Hanoi (d) Rangoon

DTS B < BT IS 2 STl 9% qITeRYT TR TSI g -
(a) STHTD (b) EINI]

(c)  STueT (d)  focE

Kopenhegan is a capital of which country where world envrionment
summit has organised :

(a) Denmark (b) Brazil

(©) Venezuela (d) Vietnam

gvs ‘¥ (Section-B)
Y I U (Short Answer Type Questions)  2x5= 10
IRA &I faqer 7 & 3= Rigial &1 9o+ Sy |
Describe the main principles of Indian Foreign Policy.
3erar/OR

"qRT @ faeerifa enf @1 ifd 27 | T S |

"Indias Foreign Policy is Policy of Peace". Explain.

e B HfAE Bl Blg TR faevad fafay |

Write the any four features of the Constitution of Bhutan.
3erar/OR

STHITIIRAT @ 4T fobar=T <2l 3 el © 7

How many countries touch the border of Afganiatan ?

YRI—IHARPT & Fed ARG Fael wR ool forfay |

Write a note on Indo-American Trade Relations.
3erar/OR

YRI—AIT & ad Fael DT AHET DI |

Evaluate the current Relations of India and China.

ATh H R & AN DI FHIET DI |

Evaluate The Role of Indiain SAARC.

OA-171-S

10.

3)

37erar/OR
IMRIITT & AT T M & 7
What do you mean by 'ASEAN'?
AHaTeR 1R wfir fewft forfag |
Write short onte on Human Rights ?

37erar/OR
TIERoT UGNl WR U+ fa=R <Y |

Give your own thought on envrionment pollution.

gvs 9 (Section-C)
9" ST 9e9 (Long Answer Type Questions) 5x5=25
AR @ facer AT & aR& Ud aidl dedl @ AT ST |
Explain the internal and external elements of India's Foreign Policy.
31erar /OR
AT BT I[TROM TR oG foIRay |
Write a note on concept of Non-alignment.
HRI—TThET Heell & AT 8 & B B dTAT BT I BTy |
Describe the hurdles of normalization of Indo-Pak Relations.
31erar /OR
HRA—NcldT Fdel BT MAra-TcHS TRIETT DHIRTY |
Critically examine India's Relations with Sri Lanka.
HRA—MR®T Haell @ faaamr adae Rerfa § $ifsg |
Examine the present stage of Indo-America Relation.
31erar /OR
A g & fJgc & T HRd—wd Ha ol Rerfa 7 Tiem ST |
Comment on the state of Indo-Soviet Relations after The Dissolution
of The Soviet Union.
qE & B vd qHeT B faer S |
Discuss the functions and Role of SAARC.
31erar /OR
Y 1991 ¥ MR TG MR & Haell &7 quid By |
Describe India's Relation with ASEAN since 1991.

OA-171-S



I1.

“4)

T eI H <lgih Ud olRdT UNIeToT & Hecd Pl AHSIS| |
Clarify the importance of Accounting and Auditing in Financial
Administration.

AIBRETE! BT 3fef T BRI §I 3AD! [ARITARIT TR FHIT STely |

Explain the meaning of Bureaucracy and explain its characteristics.

3frar/ OR
QeI RTo] Saeell UR ey ey faRay |
Write the short note of Panchayatiraj system.

OA-172-S

ROl NO. ceeeeerreeneccreeeeeecenenee

OA-172-S

B.A.III Year , Supplementary Exam. 2020-21
Subject - Political Science

Paper - 11
(Public Administration)
. M.M. 40
Are : Y UeH g DIV |
Note : Attempt all questions.
gvs ‘A'(Section-A)
g U (Objective Type Questions)
1. el IR I 1x5=5
Choose the correct answer :
@) TR H Hdhd I URSH (POSDCORB) &7 WART foba= o ?
(a) TS ®EC (b)y  faetrar
© gV faews (d) R s
Who coined the asabreviation POSDCORB ?
(a) L.D. White (b) Villovi
(©) Woodro Wilson (d) Luther Gullik
(ii) JeTRTE OR {3107 fohsqat BIaT © 7
(a)  aRATUBT BT (b)  HRUIfIBT BT
(c)  =grguTfetdT T (d)  Suda | @1
Administration is controlled by ?
(a) Legistative (b) Executive
(©) Judicial (d) All of the above
(i) g BT RIgT § -
(a) aRssar &1 Rigld (b) Jrgar &1 RIgid
(c)  Sad aHl (d) ST A BIg T
Principle of promotionis :
(a) Principle of Seniority  (b) Principle of merit
(©) Both (d) None of them

OA-172-S



(iv)

v)

2)

goie & Agayol Rigla 2 -

(a) el (b) TR

()  wger (&) SR W
Cheif principle of Budget s :

(a) Cleartiy (b) Publicity

(© Balanced (d) All of the above
ABRETE T B IART e @ ?

(a)  Hag dR A (b) @ SEA T
(©) R Tfors (d) EEICIS]
Who invented the word Bureaucracy ?

(a) Max Waber (b) Robert Dehal
(©) Luther Gullick (d) Villovi

gvs ‘¥ (Section-B)
oY I e (Short Answer Type Questions)

e e @ gRaTT faRag |
Write the difination of Public Administration.

gt/ OR
Al TR U faee 8 ey |
Public Administration is science. Explain.
U RIgd | ST R |9 ©§ ?
Describe the hierachy Principle ?

3frar/ OR
AR HTAUTfrST A 31T R FHI & 7
What do you understand by the chief execeutive ?
il | a1 |qHeK § 2
What is the meaning of recruitment ?

3frar/ OR

yfRteror & ?
What is meaning of Training ?

OA-172-S

2x5=10

10.

3)
TG R 7

Vote on account ?
37erar/OR
o= fadrre vd = fade & oR @r © ?
What is difference between financial bill and ordinary bill ?
AIPREE] & T QY RIT 7
What are the demerits of Bureaucaracy ?
37erar/OR

R 7 8 7

What is good Governance ?

gvs 9 (Section-C)

e S8 999 (Long Answer Type Questions)
Al YA B URATYT T4 SHSD &3 Bl aviF DY |
Describe the public Administration and its fields.

37erar/OR
SIEACKIREINCIRE SN ISE RSN RICR IR
Describe the difference between public and private administration.
e @1 gkt €T | 398 W Rigial &1 avie S |
Define organization and describe its main theories.

3erar/OR
W IR & TSR foafay |
Write the kinds of staff Agencies.
uera @ A= Rigial &1 avE Iy |
Describe the differcent principle of promotion.

37erar/OR
wdt @1 fafr=T ugforal &1 avi= $IfTg |
Describe the different systems of recruitment.
IRA 7 Fore AT 1 ufshar &1 9o B |
Describe the Budget making Procedure in India.

37erar/OR

5x5=25

OA-172-S



ROl NO. ceueeereeeneceneeeeecneenee OA-173-S

B.A.III Year , Supplementary Exam. 2020-21
Subject - Sociology
Paper - I
(Basic of Scoiological Thought)
M.M. 40

Are : Y UeH g DIV |
Note : Attempt all questions.
gvs ‘A'(Section-A)
g U (Objective Type Questions)
1. SEESHEECIEIE 1x5=5
Choose the correct answer :
@) AT faerT &1 araver &1 9 ©
(a)  ofie eraxern (b)  difcas sra=en
(c)  VcHeTdral 3fawel (d)  SWREd T
The law of stages of human progress is :
(a) Theological Stage (b) Metaphysical Stage

(©) Positivistic Stage (d) All of above
(i) gifsifed Pl & o ¢ :

(a) I BIe (b)  gIM

(©) qaR (d) e

The writer of 'Positive Philosophy'is :

(a) Auguste Comte (b) Durkheim

(©) Weber (d) Pareto
(i)  gEM 7 ‘IR B ford!

(a) 1950 (b) 1897

(c) 1890 (d) 1938

When did Durkheim write 'Suicide' :

(a) 1950 (b) 1897

(©) 1890 (d) 1938
(iv)  HRIHAE T BT GURON fha < :

(a) qaR (b) Hre

(c) S (d)  wer

OA-173-S



v)

2)

Who give the concept of charismatic leader :

(a) Weber (b)
(© Jhonson (d)
Y qP DI JAIROT freat <7

@ W (b)
© WA (d)
Who give the concept of Derivations :
(a) Pareto (b)
(© Merton (d)

gvs ‘¥ (Section-B)
Y I U (Short Answer Type Questions)

A wRI @1 H R/ ?

What is law of three stages ?
3erar/OR

@i & dfg faamat @ W forRRag |

Write the name of five books of Durkheim.

it ey Fr 7 ?
Whatis class struggle ?
3frar/ OR
F BT IR Ievari qamsy |
Write four characteristics of power.
HC’OIQCCIIC{ CARSECINEL EHIER
Explain the concept of functionalism.
3frar/ OR
AMINTE 37l & Ted qargy |
Explain the elements of social system.
i ) AR AT forRay |
Write four characteristics of value.
3frar/ OR

HRANE €T & ?
What is Satyagraha ?

OA-173-S

All of wrong

10.

I1.

3)
fITHIRRUT BT STTURON Id1ST |

Explain the concept of westernization.
31t /OR

SMYFBTHROT Bl LT IATSY |

Explain the characteristics of Modernization.

gvs q (Section-C)
e S 999 (Long Answer Type Questions)
P B A WRI & AT BT AHMSY |

Discuss the law of three stages of Comte.

31erd1 , OR

Al faeraT & Rigid &1 Jediad difoiy |

Evaluate the theory of Cultural Lag.
AIBRemE! 1§ ? $9d QY qarsy |

What is Bureaucracy ? Explain its demerits.

3rerdar /OR
Jafer™ & Rigid & I9ssy |
Discuss the theory of Veblin.
ybrafdare & Rigid TR THrer SIfey |
Elucidate the theory of functionalism.

31erda1 /OR

ATHITTD SRRl & dedi @ FHEm BT |

Review the components of social system.

ATHISTD AT DI ML De] BT i DI |

Evaluate the needs of Social Justice.
31erd1  OR
el & WReThar Rigid o JHesy |

Discuss the trusteeship theory of Gandhi ji.

HERITHRT & GTEl Bl AHSST |
Discuss the impacts of Sanskrtization.
31t /OR

IRT H Irgare’ favy R th o fofRau |

Write an essay on 'Nationalism in India'.

OA-173-S
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ROl NO. ceeeeereeenecceeeeeeecneenee

OA-174-S
B.A.III Year , Supplementary Exam. 2020-21
Subject - Sociology
Paper - 11
(Methods of Social Research)

. M.M. 40
Are - w4 U g IfTg |
Note : Attempt all questions.
gvs ‘A'(Section-A)
g U (Objective Type Questions)
1. | /ey oy | 1x5=5
Write true or false.
@) UG THRT I e fSd qeaf & Hhed H A=Iar SRl ¢ |
Hypothesis helps in colleting data related to the problem.
(ii) U] B YN dde RIfed Feraransil 3 a2 daed & folg
[ERIESIEE IR
Questionnaire can be used to collect data only from literate information.
(i)  STSE 7 ARG X YA BT TANT ARG WR fHar 2
Bogardus has used 'Social Distance Scale' on Indians.
(v) TS B AR BT STHIAT bal ST 2 |
A.L. Bowley is said to be the father of statistics.
(v) At grr deat o1 yeeH @i warayel @ 3 fhar o Hahar 2
Presentation of facts can be done more effectively through diagram.
gvs ‘¥ (Section-B)
oY I U (Short Answer Type Questions)  2x5= 10
2. ATITS ST BT 37ef T HIFT |
Explain the meaning of social research.
3frar/ OR
IS Igfd & TS AR qaisy |
Describe major steps of scientific method.
3. T 3ree e @1 faRivdr) aarsy |

Explain characteristics of a good sampling.

OA-174-S



2)

3frar/ OR
UeTael B gRuIRT IR |
Define questionnaire.
gl & e B I£ed qaigy |
Describe the objective of classification of data.
3frar/ OR
ARV BT gRAIfT SR |
Define tabulation.
HIfEART & T[O1 BT quiE DI |
Describe the merits of median.
3frar/ OR
IEAD BT 3 T BT |
Explain the meaning of mode.
XEIfE & AH ¥ U & Q1Y 98y |
Describe the demerits graphic presentation.
3frar/ OR
ARSI H 0 &7 Heed qaigy |
Describe importance of computer in social research.

gvs q (Section-C)
e ST 999 (Long Answer Type Questions) 5x5=25
U] A 31T FIT FHSR © 7 AHIGTD T H SUHHAT B
8 9d18Y |
What do you understand by hypothesis ? Discuss the importance of
hypothesis social research.

3erar/OR

ARG FAIET0T BT 7] T BT T $Hd Yd JHR Jd18y |
Explain the meaning of social survey and describe its major types.
JAfIdd TeITT UG F MY o1 FASK & 2 9D 0T T Qi
fadeT I |
What do you mean by case study method ? Discuss its merits
and demerits.

31era1  OR

OA-174-S

10.

I1.

3)
AEATHR BT GRINT ST U6 59 TF JHR 9d18y |

Define interview and describe its major types.
TFATYA BT URHINT HINTY T INTed & AHTGId GuI T UAMT
B fagaeT SR |
Define scaling and discuss social distance scale of Bogardus.
37erar/OR
gfided oed W) e g |
Write essay on report writing.
wiftzrast @1 aRaIfYd SIfSTe der wierat & e @ faae T SIfeT |
Define statistics land discuss the importance of statistics.
37erar/OR
1 RO H U B & HHATRAT B SFE AorgN @I 9uiF 7 | Ay
T S & MR TR FAR Fed DI M DI -
Discription of daily wags of employees of a firm is given in following
table. Calculate mean on the basis of given data :

e ATl (. H) HHATRAT P ]
Daily wage (in Rs.) Number of Employees

80-60 8

60-70 10

70-80 16

80-90 14

90-100 10

100-110 5

110-120 2

3Tl BT gy URAAHRYT &1 & ? 5D (9107 & i B
faderT I |
What is graphic presentation of data ? Discuss the rules for its
construction.

31t /OR
3l & Emy URKAIHRUT & 0T Td QI6T BT UIeoT BTy |

Examine the merits and demerits of diagrammatic presentation of data :

OA-174-S
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I1.

2)

g & 9 ) ey falau |
arerar
f=ferRad & B v &1 Siiaw aRea foRau |
@) e S (@  fagd v g
grs g
el S v 5x5=25
319 UTGUHH & fh’dl T AT BT quie BT |
arerar
319 UTSUHH & il T dTed BT quie BTy |
frforRaa # & fodl va &1 e difog—
@) e @  AERTE
arerar
qIBR b ThR oIy |
A fod ®ed € ? |1 bR folRay |
arerar

HTed AT ggia § fea™r fod wsd € ? T B |
3 UTSThH & Bl il U e &1 Sitas ke foafRay |
arerar
3T UTSThH & fhadl Uah favy w feweflt sem # forRau |
TG B AT, T, WR DI qerg 7 fIRay |

arerar
319 UTGUHH & QT bR foIlRay |

OA-175-S

ROl NO. ceeeeereeenecceeeeneecneenee

OA-175-S
B.A.III Year , Supplementary Exam. 2020-21
Subject - Music

Paper - I
(Vocal)
. M.M. 40
Al - 9 U g PHIIT |
grs 3’
IR uE
1. e ve & SR Afg | 1x5=5
(i) IER BT 9C Tq T 93 foafRau |
(i) AMABR BT GRATIT SR |
(i) TVER & IBR IRy |
(v) T fd FEd 2
v) I faw 8 g
s ¥’
Y SR U 2x5=10
2. 3T UTSTHH A e ft 7 &1 7 uRay forRau |
arerar
JTSTHT 37IAT §8R T BT I UR=y forfRay |
3. fFrfoaRad § | {6 v @ e s Sif |
@)  aHeE @  AoRTH
arerar
qrIeR fhd ded & ?
4, T f Ped € ? W IR |
arerar
T AT BT g v |
5. Hcd Jgfd H @ & arr ST |

arerdat
319 UTGAHA &1 fh<dl ft ATl T ITER0T Afed quid BT |

OA-175-S
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OA-176-S
B.A.III Year , Supplementary Exam. 2020-21
Subject - Music
Paper - 11
(Vocal)
M.M. 40

qIe 9 ye g BIfTY |
Note : Attempt all questions.

()

(i)

(i)

(iv)

gvs ‘A'(Section-A)
g U (Objective Type Questions)
SEESHACIRDIE 1x5=5
Choose the correct answer :

AT & FHT Rigid 7q fha famg FeiRa 2 -

(a) 4 (b) 3

(c) 1 (d) 2

How many points are decided for the time Theory of Ragas :
(@ 4 by 3

© 1 d 2
ART—YHTR AT S TDR

(a) 3 (b) 2

(c) 1 (d) 4
Kinds of Sanchi-Prakash Ragas :

(a) 3 (b) 2

(c) 1 (d) 4

AT YHR BT AT -

(a) BT (b) TJHTST
(c) IERIER] (d) EaLdl
That of Rag Deshkar :

(a) Kalyan (b) Khamaj
(©) Bilawal (d) Kaafee
THR—ITIA Sell # DI A ATl T Bl © -
(a) P (b)y i
(©) EEGIG (d) AR

OA-176-S



v)

2)

Which Tal is used in Dhamar Gayan Shelly :

(@) Ek-Tal (b) Choutal
(© Jhaptal (d) Dhamar
qret SERT # forai A3 8l § 2

(@) 14 (b) 12

(©) 10 (d) 16
How many matras in Tal-Jhoomra ?

(@) 14 (b) 12

(©) 10 (d) 16

gvs ‘¥ (Section-B)
oY ST e (Short Answer Type Questions)  2x5= 10
RITT bT g Rigia werg ¥ oy |
Write in short "Thime Theory of Ragas'.
3erar/OR
TRHA—JNH AT & IR H Hfared SHrR S |
Give the short notes about 'Parmail Praveshak Rag'.
AT JUTel 3R SUHR BT JelAIHD qui DHIFTT |
Attempt the comparative study of Rag Bhoopati-Deshkar.
3erar/OR
rgghH & Bl T H e forRaw |
Write their 'Sargam' in any Rago of your syllabus.
U, AHCHE! & 72 ATS B T BT Rigia Gl 7 frRav |
Write in short Pt. Vyankatmakhi's Principle of creation of 72 Thats.
3erar/OR
. MITEUS & 32 oTel @l e o1 Rigia Wi # faRa |
Write in short Pt. Bhatkhandey's Principle of creation of 32 Thats.
TH AT & 484 T Y IURT wfdra F forRav |
Write in short the origin of 484 Ragas from on That.
3erar/OR
ogre A # AT rcidrR forRav |
Write three Alankar in Rag Bhairavy.

OA-176-S

10.

I1.

3)

RET—RTRT aeffepor &1 Hiera SRy S |

Write short notes about Rag-Ragini Vargikaran.
3erar/OR

qrel <diam @1 318 Ud g forfay |

Write That and Dugun of Tal Teevra.

gvs 'q (Section-C)
" ST 799 (Long Answer Type Questions) 5x5=25
AT & 99 RIgid & 9= d qaic STRIT & AR Hifo |
Explain the Poorvang and Uttarang is the reference of time-Theory
of Ragas.

3erar/OR
AR YHT AT BT ARG S forfay |
Write in detail about 'Sandi Prakash Rag'.
AT 98RBT AT a0 DY |
Write the description of Rag Bahor.
37erar/OR
UISaHd @ fHdl AT & BIC T @1 ¥exferfy fofRay |
Write the Notation of any Chhota-Khyal of your syllabus.
4. @hcHd] 7 fFE UHR 72 AIC Bl G DI | T DI |
Explain How Pt. Vyankatmakhi create 72 That's.
37erar/OR
IR MR 0T & 32 1St &I 1 B fagd wu 9 forRad |
Write in detail the creation of 32 That's of North Indian Music.
T AT A e AT I 8 Fahd &, fIIR gaep forfay |
Explain in detial. How many Ragas can produce from one That.
37erar/OR
T Al H URME Ui sreddrR faRed |
Write the five basic Alankar in Todi That.
IAT—RIAET qHTaRoT @1 faga SHdRI ST |
Write in detail Rag-Ragini Vargikaran.
37erar/OR
Tl SFRT 1 SE—g A Td AN oty |
Write That Dugun and Chougun in Tal Jhoomra.

OA-176-S



OA-177-S
B.A. IIT Year, Supplementary Exam. 2020-21
Subject - Urdu
Paper-1
(Khutoot, Drama, Mazameen-o- Magqalat)

Time : ) M.M.- 40
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OA-178-S

B.A. III Year, Supplementary Exam, 2020-21

Time :

Subject - Urdu
Paper-II
(Qasaid-O- Marsiya)

1X5=5

ASESH(D)
$x:(D)
12+(D)
$H0s(D)
Fé2(D)

5X2=10

e fy{ur“’cf.;{ <
St QoL caydSuten

Ui g
Section A
_Efutin S S
Rl A
UL o
JFE(C) A28 (B) by 2(A)
editsmie gl Gty -
(@) J/(B) /(A
Se bl P Pl
P JAIB) ds(A)
e bl 3o
$8(0) SaLd6(B) & U(A)
PR
S 2(C) FE(B) Frz(A)
Section B
_,_Ljf;//n:,gm/’?:: o
IS s v A
!

& Oveafe xAUsg e
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“)

a1erar / OR
=1 6 V(F) ve uRfa fadia wfeer wafte € s W, qen W,
a1 IugAlE € A dim(W, + W,) = dim W, + dim W, — dim(W, \W,)
If W, ,W, are two subspaces of a finite dimensional vector space
V(F) then prove that
dim(W, + W,) = dim W, + dim W, —dim(W, W)
M AW 3T A AR I 3 Afawl &1 FeriRor SR
AT TG ST wEftedr @1 A faRed |

Determine the Eigen values and the corresponding vectors of the
matrix A find also the corresponding Eigen spaces.

3 2 4
A=|2 0 2
4 2 3
3121a1 / OR
sofsd & 1 arregg fawvita 2
Show that the following matrix is similar to a diagonal matrix.
1 6 4
A=|0 4 2
0 6 3

BTN ot AfAwT BI foral 3R Rig & ?

State and prove Cauchy-Schwarz inequality.
3721d1 / OR

TT—39e IfEgedT Uhd Bl A= S U1 § & TART fhar S
=

How to apply Gram-Schmidt orthogonalization process to
Numerical problems.

0S-266-S

Roll No.

0S-266-S
B.A./B.Sc. -11I Year, Supplementary Exam - 2020-21
Subject - Mathematics
Paper - 1
(Linear Algebra and Numerical Analysis)
M.M. -40

qIe T gee B BIfoTY |
Note : Attempt all questions.

(1)

(ii)

(iif)

(iv)

)

Hus ‘I'(Section-A)

g1 e (Objective Type Questions)
el A W 1X5=5
Fill in the blank:

Afew e V,(R) ¥ dfew «, =(1,2,3),a, = (1,0,1) q=

a, =(0,1,0) T AT I8 AL WRIBT o BT |

In the vector space V;(R) the vectors «, =(1,2,3),a, =(1,0,1)
and o, = (0,1, 0) are there then these vector will be linearly.

gfe ufafamor 1y, — v, Tdd rsTes s ufafamor g ar

Ifthe mapping f :v, — v, 1s one one and onto linear mapping then

the mapping ' :v, =V, IS coeverereneenne.

T X A F IR B BT E |

The convergence in Newton Raphson method..................

<R IO AMARE V(F) H (ad —bB,7) = o Il 2 |

0S-266-S



2)
¥rs ‘9’ (Section-B)
oY SN Y% (Short Answer Type Questions) 2X5=10
S IR fs |fewr (2,3,-1),(-1,4,-2) W@ (1,18,—4) &
Ay feer Fafte V,(R)H YRgavd : waadsl a1 wRad 2 |
Examine whether the set of vectors (2,3,-1),(-1,4,-2) and

(1,18,—4) islenearly independent or dependent in V,(R).

31eraT / OR
gfe Wik W, afes wafe y(F) @ Sugdfe € O Rig sIfvr
& W+ W, =W, UW, [t L(W,UW,) =W, +W,
If W, and W, are subspaces of the vector spaces ¥ (F) then show
that L(W,UW,) =W, +W,
M TR T:V,(R) — V,(R) /91 R & uR¥1id &
T(ab) = (ba,) N <A & 7 UF JeAHIRGT 7 |
LetT :V,(R) = V,(R) be the mapping define as T'(a,b,) = (ba,)
then show that T is an isomorphism.

3721d1 / OR
gy & e eregg srfdefta 2 -

Show that the following matix A is not diagonalizable.

0 1 O
A=10 0 1
1 -3 3

AR TP SR o T F o+ f|=[af+| 8] = @ Rie
oY 5 Jfeer ¢ iR BIRgwd: wa=x 2
If ||oc + ﬁ” = ||a|| + || ,B|| in inner product space then show that ¢

and f is linearly dependent.

0S-266-S

€)
3721d1 / OR
T 3R U FAe H AL BT IR dlftad e
Rghar: Tad= BT 2 |
Prove that orthonormal set is a linearly independent in a inner
product space.

fEfoToT fafer gRT orFaRTet [1,2] H TR 43 — 2 —1=0 & 9
BT AHeAd DI |

By Bisection method find the root of the equation ,* — 2 _1=(in
the interval [1,2].

31erar / OR
e ARON A 31Sid A = SIS
Estimate the missing terms in the following
x: 1 23 4 5 6 7
y: 2 4 8 7 32 64 128
Al faare faf & /= FaRr a1 g DI |

Solve the system of linear equations by using the cholestky method
4x, +2x,—2x, =4

2x, +10x, +2x, =14

—2x, +2x,+3x;, =3

32rd1 / OR
g &I f& (Prove that)
' 69315
01+ x

¥ us 9 (Section-C)
€rd ST 999 (Long Answer Type Questions) 5X5=25
e R fada afesr afe V(F) &7 U IR 81T & | Rig
P
There exists a basis for each finite dimensional vector space V(F)
Prove that.

0S-266-S



10.

I1.

5)
e —X%E I gRT (12)/4 BT M B |

Calculate the value of (1 2)% by Newton- Raphson method.
31erar / OR

<P fIMTIId JFaR 3TIde F &1 AT SIS |

Derive the Newton's divided difference interpolation formula.

LU faare fafer gR1 AHiexer Far gt S |

Solve the system of equation by LU decomposition method.

Sx-2y+z=4
Tx+y—-5z=8
3x+7y+4z=10
3rerat / OR
2 3R 4 H9 & HT Gl A gRT sradwa T
d
d—i:y—x, ¥(0)=2 & RRY p(0.1) 3R p(0.2) BT uRDe
DI |

by the Rung-Kutta method of order 2 and 4 calculate y(0.1) and

d
y(0.2) for the differential equation d_i =y-x, y(0)=2,

0S-266-S

0S-266-S



(“4)

, (%,)=(0,0) Show that the function

Xy

T ,(x 0,0

fes )=+ Exy)i( )
0

£ (x, y) is continuous but not differenitable at (0,0).

3121dT / OR
A % f:[a,b] > R U® AR [a,b] R URdg Herd 8, A9
Rig a1 & f e R[a,b] 3} IR oa9dt Il 9S> 0B forg
[a,b] e psd UBR 2 {6 U(p, ) - L(p, f) <e.
Let 1 :[a,b] > Rbe abounded function on [a, b].then prove that
f € R[a,b],ifand only, If for every e> () ,there exists a partition P
of [a,b] suchthat U(p, f)—L(p, f)<e.

e | XY oy sftraRar o R @R |
0

0

n-1_-x
Discuss the convergence of Gamma function I x"edx
0

arerar / OR
HAT f(x) =xcosx B oY RA (-7, 7) H BRI S0 Y
PR |

Obtain fourier's series in the interval (-7, ) for the fuction

f(x)=xcosx.

AMT 6 (X, d) T S0 FHe 8, =gl i wed d”: X x X — R,
ST d7(x,y) =min{l,d(x, y) @ TRAMRT & y R v& IRag 05 ¢ |
Let (X,d) be ametric space. Show that the function

d": X xX — R, defined by d"(x, ) =min{l,d(x, y) is
bounded metric on X.

0S-267-S

Roll No.

Time : 3 Hrs.

0S-267-S
B.A./B.Sc. -111I Year, Supplementary Exam - 2020-21
Subject - Mathematics
Paper -11
(Real and Complex Analysis)
M.M. - 40

dre : |l ueT B BT |
Note : Attempt all questions.

(i)

(iif)

(iv)

Hrs ‘I’ (Section-A)
IEJfTS e (Objective Type Questions)
e IR g - 5X1=5

Choose the correct answer :

A fry)=fx' +y +1 T £,(1,2) FTA B
Let f(x,y)=+/x*+y" +1 then f,(1,2) the value of :

2 3
@ 1 om 2 @ 2 2
HHATSH I:x3e‘xdx 2
The integral is :
(a)  AMERT (Convergent) (b)  IUART (Divergent)
(c)  <rmE (Oscillatory) (d) — SWRRH H 9 @I58
(none of the above)

TRe T H U gleas Iqzad Bl © :

In a metric space each derived set is :

(a) fagd (Open) (b)  ¥gd (Closed)
(c)  ©Hi(Both)(a)and (b) (d) @I =& (None)
W=(Z_2) &1 fad fag 7 -

z
: : w=———— .
Fixed points of (z-2) are :

0S-267-S



v)

)
@ (0.2 (b)  (03)
(© (1,2) (d) none
TG W Bl A ufdfdd 8T @
(a)  wefaq wgeaa (b)  fagd wg=a
(c) TNg Ig=d (d) SWRRHH A B T
Continuous image of a connected set is :
(a) Compact set (b) Open set
(©) Connected set (d) none of these

gvs ‘g (Section-B)

Y SR ¥ (Short Answer Type Questions) 5X2=10
AP f:[a,b] = R VP URTE Beld & AR p [a,b] T BIg
fursr &, a9 Rig @I 5 L(p, £)<U(p, f)

Let f :[a,b] — R be abounded function and p is any partition of
[a,b] then prove that L(p, f)<U(p, f).

3721d1 / OR

Rig FRI f Be [/ (x,p) = || R (0,00 s
. . of o
TE %, Ud (0,0) R —— R S &1 A9 A1 B |
ox oy
Prove that the function f(x, y) =, /|xy| is not differentiable at point

0,0 df“d% d%tOO
(0,0) and fin o 0 8ya(’)'

fazaratt fop jfsinxzdx R

Show that J.lw sin x’dx is convergent.

31erar / OR
Tl f(x):e"" Pl IATRTA T <X <7 ¥ BIRIN ofY =19
I |

0S-267-S

©)

Find the fourier series of the function f(x) = e " inthe interval

—T<X<T.
R& wfte o1 IameRer fkd gRfia #ifm |
Define metric space with example.
3721d1 / OR
g ST fF gRe T # g% A 3+ T Bl
3T BIAT & |
Prove that every convergent sequence in a metric space is a
Cauchy sequence.
A B U4 U TAM Faq Bl HI IR BT |
Define continuous function and uniform continuous function.
3721d1 / OR
Rig #IRTY &5 fooeft e wafts # <1 dgd Su Aqeadl &1 |9
e Bl ¢ |
Prove that the union of two compact subsets of a metric space is
compact.

fenall fb weld y = x° —3xy® TP BHITD el & Td [dgelvd
Thold & AT IR fdd TRT ST BT |

Show that the function y = x* —3 xy2 1s harmonic and find the

corresponding analytic function of this as the real part.
3725d1 / OR
HAIFUH HURYT U6 991 3UTd bl YRATNT B |
Define mobius transformation and cross ratio.
¥ug 9 (Section-C)
" TR 999 (Long Answer Type Questions) 5X5=25

= (1)) #(0,0)
feaait £ e J (0) = x20+y2 , (x,7)=(0,0) fa=g (0,0)

R AT 8 U] aHA el T |

0S-267-S



10.

I1.

)
31e7d1 / OR
QP FAfte | 11 BT IeTER0T Afled TRATRT SIS |
() A fasg ()  9oH U fg<dig TUET HEfte
(i)
Define followings with example in metric space

(1) Limit point (i1) First and second countable space
(i) Nighbourhoods

a6 (X,d) 3R (Y, p)31 g0@ Tt &, 3R X - Y
Th He § a9 Rig BN {6 £ 9ad € 3% iR daa 3
F(G)yx ¥ Taga g w&fe G,Y H faga 5|

Let (X,d)and (Y,p) be two metric spacesand f: X — Y bea

function . then show that fis continuous iff f~'(G)isopeninX

whenever Gisopenin y .

3721d7 / OR
g SINTY b e |qale &1 Hsfad IU Ty |gd U uReag
Il € |

Prove that A compact subset of a metric space is closed and
bounded.

IeYD BAd [ (z) =u(x, y) +iv(x, y) & ol SRI—HHE
HAIPROT Ul BIFT |
Obtain Cauchy-Riemann equations for analytic function
S(@)=ulx,y)+iv(x,y).

31e7dT1 / OR
feeiyd B &I URAINT PINTY g AfTTd WUIARYT S1d BTy
Sl fb o5 2, =2, z, =i, z, =-2 9 fd=gall
w=1 w, =i, wy=—1 ¥ ufdf==ad g |

Define analytic function and find the mobius transformation which

maps the points z, =2, z, =i, z, =2 into the points
w=L w,=1i,w,=-1

0S-267-S

0S-267-S



“4)
3rerat / OR
TR S AM 2 B YR UH ded & UH o el 1,16 3R —40 T |
HIE,IRRYT 3R 41, ST BRI | LA D YRS Yo A1 Aol e
I |

The first three moments of a distribution about the value 2 of a

variable are 1,16 and -40 . Find the mean variance and , for the

distribution. Also find the first moments about zero.

A f& fem &1 g § & IR IR o |Fahal 8B IR § | @
IR R C A9 § 9 a1 IR | 9 U |1l Fem=r a9 € | garsii
N FHH a1 Afaadl gRT R T S @) uiiiedr FaT 86 |
A con hit a target 4 times in 5 shots, B 3 times in 4 shorts C twice in
3 shorts , They fire a voley. What is the probability that two shots
at least hit?
3721dT / OR

T Hqdh H a G AR b el I3 2, ¢ I I Al & | faamai

Ca
a+b 8
A box contains a white and b black balls, ¢ balls are drawn, show

for Wi 7S Awe AT B gdTEn

Ca
that the expectation of the number of white bals drawn is b
a

el & fgug ded (q+p)"a§ﬁ’|\7

dp,
Mo =pq| nr,  +
dp

&l p AT & gRar - df e 7 |
Show that for the Bionmial distribution (g + p)”

dp,
Mo =pq| nr,  +
dp

Where 4, thatis the ,# moment about the mean.

0S-268-S

Roll No.

0S-268-S

B.A./B.Sc. -III Year, Supplementary Exam - 2020-21

Subject - Mathematics
Paper - 111
(Statistical Methods)
M.M.- 40

qre - |l U 8l BIFY |
Note : Attempt all questions.

(ii)

(iif)

Jus ‘I’ (Section-A)
JEIfTS ue (Objective Type Questions)
e IR g - 1X5=5
Choose the correct answer :
T n UTGHfad Al & fory aAmaR wrey €
The arithmetic mean of first n natural numbers is :

n+l n—1
@ 5 ®
n
© 5 & (-1

T AR Ui Bl SBTAT IR FH AT 37 BT ITRihdT ©

The probability of throwing an even number with a die is :

(2) (b)

(© (d)
QI g § Aeg & |e g et g1 ©

The second moment about mean in poisson distribution is :

W= =
nN|lw K|~

@  m b m
(c) m+m?’ (d) m*+3m’+m
0S-268-S



)

(v) I raEdwy OId 8,9 :

If is the coefficient of correlation then

(a) 0<r<ow (b) 0<r<oo

(© —1<r<i (d) r>0
(v)  X- 9T BT W B -

The range of X?-distribution is :

(a) From —oo tooo (b) From 0 to «©

(©) From 0 tol (d) From— to0

¥vs ‘¥ (Section-B)

oY SR Y (Short Answer Type Questions) 2X5=10
2. =1 forRad &1 agete SiTd SISy |

Calculate the mode of the following :

Size of ltem 4 |s|6|7| 8 9|10 |11]12]13
(IS BT IATHR)
Frequency 2 |5 |8|9|12]14|14 151113
(RFRA)
a1erar / OR

S (e vd avi— A 9ot fage § day 9 I |

Find the relation between standard deviation and Root-mean

square deviation.
3. T Ui I ART 11 9T BRA Bl UTRedT ®I1 8 ? I yod I =)

3(® 5 B |
What is the chance of following a total of 11 with two dice if the
digiton firstdieis 5 ?

3721d1 / OR

L. .
y:Eslnx,ongzeﬁmwwm@JWaﬁaﬁﬁm

1 .
Find the mode and median for ¥ = ESIH x,0<x<rm .

0S-268-S

€)
fgue 4= & foq @re & uRd e smeel s HIfTy |

Find the second moment about in binomial distribution.
312141 / OR
Rig &1 & sH1s Ay & aI9q §e4 & oIy 79 & uRa:

2
farer @1 ZTH% |

2
Prove that the mean deviation from mean is — times the standard
e

deviation in a Poisson distribution with unity mean.
g BINTT o AHTSIOT Yol BT Tewrg oNd UK AT
Il € |
Show that the coefficient of correlation is the geometric mean
(GM.) of regression coefficients.
3721d1 / OR
g ®x1 fb (Prove that) o7, = o7 (1-12)(1-72,)
1 @1 R\ PR |
Define the following terms.
(a) =9 yRabeu (Null Hypothesis)
(b) 9o U9 fgdiid YR @l Ffedi
(Errors of First and second kinds)
3725d1 / OR
Hle— I BT AWR & FHS |
Explain CHI- SQUARE (X?)

¥ug 9 (Section-C)
€rd S 999 (Long Answer Type Questions)  5X5=25

1 ge1 @1 ATfeaaT ST B
Find the median for the following distribution:

WagesinRs 0-10 10-20 20-30 30-40 40-50
No. of Workers 2 38 46 35 20
0S-268-S



10.

11.

(5)
31erd1 / OR
@RI g @ fore fraeT qrey © fewmsi fb

The poisson distribution with mean m, show that ;

W =mry.  +m 62':1’ STaf (where) M, = ;(x_m)r £ x’!n .
ST o @ fafYy o1 eS|
Explain the method of least squares.

a1erar / OR

e T sreT 9§ W Wy Yol Sd B |

Find the coefficient of correlation for the following data :
X 10 14 18 22 26 30

y 18 12 24 6 30 36
71 8 AFIll BT ST t IR S R

Find the student's t for following variable values in a sample of eight.

-4,-2,-2,0,2,2,3,3
I BT AT g forar A '
Taking the mean of the universe to be zero.

3121d1 / OR
Q1 AR UTYelR & &1 X7sH W9 d forl T
Two random samples drawn from two normal populations are
Sample I : 20, 16, 26, 27, 23, 22, 18, 24, 25, 16
Sample II : 27, 33, 42, 35, 32, 37, 38, 28, 41, 43, 30, 37
IS QT UTYelR & T IR 81 79 UTYele dRA=T Bl I
ERURCRENEL R
Obtain the estimates of the variances of the population and test
whether the two populations have the same variance.

0S-268-S

0S-268-S
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RS-526-A
B. A./B. Sc. (Third Year) Examination, 2020-21
MATHEMATICS
Paper : Third (Optional)
(Discrete Mathematics)

Maximum Marks : 40

Tie ;. Tt d el & F9T GITER 8 Hifod | Sl @1 YT @uel @ iy fear o W8T €

Note: Attempt questions of all three sections as directed. Distribution of marks is given with sections.

LHug-37
Section-A

(Y UvT)

(Objective Type Questions)
e . g g F IR AT FAF T 1 3F F E

Note: Attempt all the questions. Each question carries | mark.

nes

1. 981 3T 1 =TI HifeL—

Choose the correct answer :

() » o H FH Y FHA FAI HoHl Dl TS §—
(a) 2
(b) m*
(© 1
(do
The number of minimal Boolean functions in » variables is :
(a) 2
(b) m*

RS-526-A [1]

Sx1=5

PTO
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(i)

(ii)

(© 1
(d)o

ToE R Ses # g 5 —
(a) 999 Bl I

(b) Fd ST T

(c) U9 Bl W& WY ST I
(d) & Tl Fehd

Every finite lattice has :

(a) least element

(b) greatest element

(c) least and greatest element

(d) can’t say

et e B fawm = & Siw i e gHe g e —
(a) formm

(b) &H

(c) AYSY

(d) g T

The number of vertices of odd degree in a graph is always :

(a) Odd
(b) Even
(c) Prime
(d) None

(v) T S U A% U %9 ¥ HA gl §—

RS-526-A

(a) T Tt G
(b) <1 T
(c) W Tt
(d) ®E Tt &

[2]

PTO
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Every connected graph has at least :
(a) One spanning tree

(b) Two spanning tree

(c) Three spanning tree

(d) No spanning tree
(v) 9fC ®E U p 3O W Fo1 7 @ Aufaa AR i Sfa gii—
@ n-1
(b) n
(c) n+1
d) n+2

If a graph G is connected with # vertices then the rank of incidence matrix is :

(@ n-1
(b) n
(c) n+1
d) n+2
Lug-9
Section-B
(g I U ) 5x2=10

(Short Answer Type Questions)

T . Tt gie g F IW AT JEF 3HE Q Tk F97 B AT &1 TAF G 2 3Bl B &

Note: Attempt all five questions. One question from each unit is compulsory. Fach question carries 2
marks.

ThTe-1

Unit-I
2. 9 = A POl foEeHE wHEE w9 9 i SR feensy fe gee WE 1 g

Find the complete disjunctive normal form in three variables and show that its value is 1.

srerat
Or
RS-526-A [3] PTO
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el T==a o fawsH &l e gigd aRvifa it |

Define Partition of a set with example.

ECOEa ||

Unit-11

. HA S T AN We g e P (S) IEe W =ad € i sy 6 (P (S),c ) T e 2

Let S be a non empty set and P (S) be its power set then show that (P (S), c ) is a lattice.

AT
Or

STkl & fow gaar & fagea ©d 59 wUF Sl gmEE |

Explain principle of duality and dual statement.

ECaEs ]

Unit-1TT
. W UE, RHT W6 TE SR W @l WE g aRenfi it |
Define simple graph, finite graph and infinite graph with graph.

JTgar
Or
Y T Wik 1 IR Wied THHAETY |
Explain Path and Circuit with example.
TEE-1V
Unit-1V

. Tag =ifST fF @ 39 T & 9l & U3 W & o9 TH IR Hod Th oY g 7|

Prove that there is one and only one path between each pair of vertices of a tree T.
AT
Or
e Tl 2t & aRwifia FifSe wd soe fau gusa siemiem & =i @ fafeu

Define minimal spanning tree and write the steps of Kruskal’s algorithm for it.

ThE-V

Unit-V

RS-526-A [4]

PTO


http://www.print-driver.com/order?demolabel-en

6. FHUSATER! < UIH T fgdta ATk ohl AR hife |

Define Kuratowski’s first and second graph.

AT

= =g < faT 7% aAmse |

0 1 1
1 01
1 10
Draw the graph by the following adjacency matrix.
0 1 1
1 01
1 10
TUs-u
Section-C
(3 Sera we ) 5x5=25

(Long Answer Type Questions)
e . Tt e g F IH T JAF FHE G Gk T FAT A &1 gEE J9T 5 3 #1 &

Note: Attempt all five questions. One question from each unit is compulsory. Fach question carries 5

marks.
Tl
Unit-1
7. 9@ o fowR gy wl fafe @ fag wifsm)
State and prove Boole’s expansion theorem.
JTgar
Or

Ife fret w==a § R & T 99 § @ R ot 9g==a 4 ¥ gouar ey g fag e

If R is an equivalence relation in the set 4 then R™! is also an equivalence relation in the set A. Prove it.

RS-526-A [5] PTO
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ECOEa ||

Unit-IT
8. A TH e (L, <) % BN aRfo@ sstd 7 (L,v,A) 8, @ a,b,ce L % fau fag =i
Q) av(bve)=(avb)vec
() an(bac)=(anb) Ac
Let a lattice (L, <) by defined algebric system (L, v, A) then a, b, c € L prove that :
Q) av(bve)=(avb)vec

(i) a/\(b/\c) = (a/\b) A C

AT
Or
TEiEy foh yAsh foao Sereh Oreser g 7|
Show that every distributive lattice is modular.
ECaEs ]
Unit-1TT
, D . n(n-1)
9, TEY foF » WSl a1 TH WA WE H BRI H SAfeRan e 5 Bt T
o . _one(n=1)
Prove that the number of edges in a simple graph with » vertices is .
AT
Or

o3 ¥ femm ok § fog o ¥ 2z 9% 1 gAIH U9 F@ RIWC &1 BRI R GEE de R 9’ Hb
¥ Yt B

RS-526-A [6] PTO
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Find the shortest path from a to z in the graph shown in figure. Where number associated with the edges
are the weights?

FE-1IV
Unit-IV
10. fog ST fo p 3 @t g8 § (n—1) SN 2 S
Prove that a tree with 7 vertices has (n—1) edges.
3TAAT

Or
TR FANNGH 1 TN o 7 T o fau =Aam 94 i hitag |

RS-526-A [71 PTO
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Unit-V
11. 3R & A & fafge @ g S
State and prove Euler’s formula.
AT
Or

FUaaEn! & fgure & o gfed wmemu |

Explain Kuratowski’s two graphs with figure.

RS-526-A [8]
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RS-526-B

B. A./B. Sc. (Third Year) Examination, 2020-21
MATHEMATICS
Paper : Third (Optional)
(Financial Mathematics)

Maximum Marks : 40

Tie ;. Tt d el & F9T GITER 8 Hifod | Sl @1 YT @uel @ iy fear o W8T €

Note: Attempt questions of all three sections as directed. Distribution of marks is given with sections.

LHug-37
Section-A

(Y UvT)

(Objective Type Questions)
e . g g F IR AT FAF T 1 3F F E

Note: Attempt all the questions. Each question carries | mark.

1. 981 3T 1 =TI HifeL—

Choose the correct answer :

() orefysry fofg o1 g g R —
(a) Toft ET
(b) Terht |fifa & % 9§
(c) arore famo ¥
(d) T w
Financial Decision is related to :

(a) Capital Structure

(b) Purchase of fixed assets

RS-526-B [1]

Sx1=5

PTO
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(i)

(ii)

(iv)

RS-526-B

(c) Dividend distribution

(d) Maintenance of accounts

51 1 YHIHH ¥, Hifh—

(a) T8 1 S0AH Hod a9 A & qod § e ¥

(b) ¥F S W & % AH H HHT TR S |

(c) T S W 5 IHgfG Tt g |

(d) (a) T (b) I

Money has time value because :

(a) Money in hand today is more certain than to be received tomorrow
(b) The value of money gets discounted as times goes by

(c) The value of money gets compounded as times goes by
(d) (a) & (b) both

IE H SAANE R RN A K A ThEA fafy i@ T—
(a) ATheIT

(b) HHTRTH

(c) qeraal

(d) T & FE T

Newton Raphson Model to calculate IRR based on :

(a) Differentiation

(b) Integration

(c) Continuous

(d) None of these

frad g Sifewgfte & T H S T—
(a) A fo=rer

(b) T O

(c) a1

(d) =8 ¥ +E e

[2]

PTO
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Risk per unit of expected risk is measured by :
(a) Standard deviation

(b) Coefficient of variation

(c) Beta

(d) None of these

(v) Riw fawed & gafad FW I BRSBTS T—
(@) 2
(b) 4
© 6
(d) 8

Number of factor that affect stock option prices :
(a) 2
(b) 4
(©) 6
(d) 8

LHug-o
Section-B

(g I S ) 5x2=10
(Short Answer Type Questions)
T . Tt gie g F IW AT JEF 3HE Q Tk F97 B AT &1 TAF G 2 3Bl B &

Note: Attempt all five questions. One question from each unit is compulsory. Fach question carries 2
marks.

FRE-1
Unit-1
2. fodita yorg & yq@ 3w &l fafau

Write the main objective of Financial Management.

AT
Or

RS-526-B [3] PTO
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forfiar worem a1 § 7 TEh Yhiq gy |

What is Financial Management? Discuss its scope.

-1
Unit-1T
3. Hz1 okl 9HgHH W gfam ool fafen)
Write a short note on Time Value of Money.
JTgar
Or
A oI qA 9 oI hl HHEE |
Explain Present Value & Future Value.
gehTe-111
Unit-1TT

4, IR T < F fa9Iw o7 o= ¥ 2

What are the special features of Internal Rate of Return?

JTgar
Or
A A Y A |
Explain the meaning of Return.
ThE-IV
Unit-1V

5. fafg o efEfa Sifed § o) aasd |

Differentiate between Systematic and Non-systematic Risk.

AT
Or

Sifgw & gRfid SISy 91 s9% YR 99y |
Define Risk and explain types of Risks.

ThE-V

Unit-V

RS-526-B [4]
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6. faed =1 TRt HIfST | g2 faswhed &l GIed 791 Hia Ty &l faed d =R s |

Define a term Options. What is the difference between buying a put option and writing a call option.

AT
Or
| Yo W wfem fomoft fafed |
Write short note on Bond Valuation.
Lugs-H
Section-C
(drd swhE UIT) 5x5=25

(Long Answer Type Questions)
e . Tt e g F IH T JAF FHE G Gk T FAT A &1 gEE J9T 5 3 #1 &

Note: Attempt all five questions. One question from each unit is compulsory. Fach question carries 5
marks.

ThR-1
Unit-I
7. Sifem, g o1 g H S o |
Differentiate between Risk, Speculation and Gambling.

JTgar
Or
fodta worg & wq@ fofal = Twemed |
Explain main decisions of Financial Management.
ECOEa ||
Unit-1T
8. ofeh T 7 3Tk R faArad |
What is Annuities? Write its kinds.
JTgar
Or

% 25,000 1 9T 7 I6 & TG, 7% Fehglg oAl i X ¥ I9R foaan T 36 %0 & fau wmigs fomw
et BT 2

RS-526-B [5] PTO
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10.

RS-526-B [6] PTO

A debt of ¥ 25,000 is to be amortized over 7 years at 7% interest p.a. compounded annually. What value
of monthly payments will achieve this?

TR

Unit-1TT
Tk HH fEet ISt St AN 10% §, & WER STqas grEemst 4 99 B W foEr R W@ § | e
s yaR 4 §—
EL| ST A i B

(z ®) (z ®)
0 ~50,000 ~80,000
1 62,500 96,170

Y™ H A=Res o fafy w1 e g e SN fhe i@ @l g § o wiey ?

A firm whose cost of capital is 10%, is considering two mutually exclusive projects A & B, the cash flows
of which are as below :

Year Project A Project B
(in ) (in )

0 50,000 80,000
1 62,500 96,170

Suggest which project should be taken by using Internal Rate of return method.

AT
Or

ATHT hi SIS T TUET Bl e Uwed fafy o qozmd |
Explain Newton Raphson Model to calculate IRR.

TER-1IV

Unit-IV
fafmirer @0 22 @1 whayf fafmiem & foy At Sifan T 9 @ T R aE ST 2
What is Portfolio? How is portfolio risk and return is calculated for a two security portfolio.

AT
Or

MY o Thal Gahich AISd hl THHATSY |
Explain Sharpe’s Single Index Model.


http://www.print-driver.com/order?demolabel-en

THRE-V
Unit-V
11. % 1,000 & HH 9T, 5% S(US i HiAd sdzdd dfS T au hl F=AN & @Y arfent Ho fhvd W
W T B
What will be the price of a 5% bond with face value ¥ 1,000 and with annual coupon payments, three years
to maturity and whose yield is zero.
JTgar
Or
Fid @ G2 FHET THE Hl GHAES |
Explain Call and Put Parity theorem.

RS-526-B [ 7]
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RS-526-C

B. A./B. Sc. (Third Year) Examination, 2020-21
MATHEMATICS
Paper : Third (Optional)
(Mechanics)
Maximum Marks : 40
e . gyl T GUEl & T [EVITAR & Hiferd | Sl F [aHIST GUSl & e fodr 5 W@ §

Note: Attempt questions of all three sections as directed. Distribution of marks is given with sections.

LHug-37
Section-A

(T U9T) 5x1=5

(Objective Type Questions)
e . g g F IR AT FAF T 1 3F F E

Note: Attempt all the questions. Each question carries | mark.

1. 981 3T 1 =TI HifeL—

Choose the correct answer :
() @ @wEd Sl P Ud Q H GROT P F 30° 1 RO S §, q9 —

@ P=0
(b) 2P=0Q

© P=430
@ V3P =0

The resultant of two perpendicular forces P and O makes an angle of 30° from P, then
@@ P=0Q
(b) 2P =0

RS-526-C [1] PTO
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(i)

(ii)

RS-526-C

(© P=430

@ 3P=0

Y Ghdl & "M et & wie 9d T @ frm g —
(@) R/G

(b) G/R

GcosO
R

(©

@ GcosO

Symbol used have their usual meanings the pitch of the system of forces is :

(@ R/G
() G/R

GcosO
R

(©

@ GcosO

w fag P (r,0) 1 v o e fw fag o % wmw §—

@) 0

(b) 6

© s

d 6.-r

The angular velocity of a point P (r,8) about another fixed point 0 is :
@) 0

(b) 6

[2]

PTO
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© 7
d 6.r

(iv) WReadfgs wel & fau TEl Fuq §—

)

RS-526-C

ol
@ P
o L
®) p<

el
() p 2
(d) =8 ¥ +E e

Which is tree for parabolic orbit :

ol
@ P
o L
® P

1
© p 3

(d) None of these

H0 Ht T % Tyl we H 4 S §—
(a) TR

(b) A

©) T

(d) =18 @ =E &

The value of  throughout the motion of the particle is :

(a) Constant
(b) Zero

[31]

PTO
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(c) One
(d) None of these

LHug-o
Section-B

(g I S ) 5x2=10
(Short Answer Type Questions)

T . Tt gie g F IW AT JEF 3HE Q Tk F97 B AT &1 TAF G 2 3Bl B &

Note: Attempt all five questions. One question from each unit is compulsory. Fach question carries 2
marks.

FRE-1
Unit-1
2. U& gz fuvs & fafv= fogstl W wrka wnded sal & e § qramesen gfdery ol §e § qusmsd |

Explain in brief the condition of equilibrium in a system of forces acting in a plane at different points of a

rigid body.
JTgar
Or
M qI] Hicqd Sl GRATIG HIFT |
Define work and virtual work.
-1
Unit-11
3. feer aun AfEeR WremerEen sl GHesd |
Explain stable and unstable equilibrium.
JTgar
Or

Y X@IT q1 Y 0 THae i aRersn €|

Give the definition of null lines and null plane.

TR

Unit-1IT

RS-526-C [4] PTO
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4. UH TAEAA 9 B TAHE Uk H R W I F i |

Find the radial velocity of a particle moving in a plane curve.

AgAr
Or

afe wh faftaa fog & ufta: fRre faam fog o1 wivia a7 o R § d9 <ifzd fob ST ooy =Ry
I 99 A7 & HHIT g 7

If the angular velocity of a moving point about a fixed origin be constant, then show that it transverse
acceleration varies as its radial velocity.

ThE-IV

Unit-1V
5. HUeR & Tfa % Frem fafte)
Write Kepler’s law of motion.
JTgar
Or

TTETHET & 3Td hIg U T HEaER gqad B oo 9 W T4 & © 1 afe + 999 o <fea
=9 sinh(¢) & GHAGR € T8 Gh T EY A R

A particle describe a smooth curve under gravity in a verticles plane. If the arcual distance travelled in time

t varies as sinh(¢). Find the shape of the curve.

ThE-V

Unit-V
6. VST TS UM AT 1 YA |
Explain moments and product of inertia.
JTgar
Or

Faferfta ot & el &0 1 ©Rw wrta el & 96§ A S|

Find acceleration of particle in three dimension in terms of cartisian cordinates.

RS-526-C [5] PTO
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©us-H
Section-C
(& E we) 5x5=25
(Long Answer Type Questions)
e . Tt e g F IH T JAF FHE G Gk T FAT A &1 gEE J9T 5 3 #1 &

Note: Attempt all five questions. One question from each unit is compulsory. Fach question carries 5

marks.
ThR-1
Unit-1
7. WERY wfeRl & fay fag wifsml
S=Ctany
For a common catenary prove that

S=Ctany

JTgar
Or

@ 3P, 7P W& 5P HER: Uk wHarg s ABC &t sl AB, BC @2 CA & srfew fhan &vad €1
Ok gt w1 uftomm, foen wd feman W@ gHter 9| e |

Forces equal to 3P, 7P and 5P act along the sides AB, BC and (4 resp. by an equilateral triangle ABC,
find the magnitude direction and line of action of the resultant.

FHE-11
Unit-11
8. F o HHEY: WA @
x=0,y-z=a,y=0,z—x=a,z=0,x—y=a

& orfew fopan wed ¥ ) femmd fF 3% U O™ F I9 dgH A& R S wwa 7

Three forces acting along the straight lines

x=0,y-z=a,y=0,z—x=a,z=0,x—y=a
show that they can not be reduce equivalently to a couple.

AT
Or

RS-526-C [6] PTO
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10.

RS-526-C [71 PTO

fro wd rfeR grTeEen sl SereTul wfed THEEY |

Explain stable and unstable equilibrium with example.

TR

Unit-111
T fog THTA 9% W TH YHR TAHE § B IHST THRRET a1 AfHeTeshig ©RU SReT ¥ a9 S
T@ 1 IV AT TR T | I Bl HHIHIU FMG hITe |

A point moves in a plane curve, so that its tangential and normal accelerations are equal and the angular
velocity of the tangent is consant. Find the equation of the curve.

AT
Or

MM q T4 SeRehrd 7 i W Ed 11 °, M58 6 w5 9 x U R 91 v 741 w99 g fean
Sl

VT2 =41’ (a2 - xz)

Show that in a simple harmonic mean of amplitude a and period 7, the velocity v at a distance x from the
centre is given by the relation

VT2 =41’ (a2 - xz)

ThE-IV

Unit-1V

TH HU VI Y k T Toohe &faw gHaw W U@ memm | wafua feen s g, fSuet ufa s d@wfa
R uflg & (37) T3 TR o0 & wE w0 o o v ok 39 wma H welt i gt s fe
3

v u
y=Ve ™ R S=?(1—€ ¢ )
A particle is projected with velocity /" along a smooth horizontal plane in a resisting medium, where

resistance per unit mass is &. Show that the velocity v after a time 7 and the distance travelled s in that time
are given by

v=Ve ™™ and s= %(l—e‘k’)
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AT
Or

WA B Th MABR g aF § R T T 5 ¢ HI TR R T §ATH WH ¢, guied &

1 .
W@ﬁr{ﬁ@zwmwéﬂ}gt[H }%WM@%WWWW%

M+Ct

A spherical drop of liquid falling freely in a vapour acquires mass by condensation at a constant rate ¢. Show

1
that the velocity after falling from rest in time 7 is = 87 [1 + } where M is the inetial mass of the drop.

2 M+Ct

THRE-V
Unit-V
11. TF & TH g M R Had I8 & o6 o =i Mg 1 goigd o g9 g9 gt
cot@=cotP cos¢ R UH BT, W& O R ¢ HU & oy IR T |

A particle moves on a smooth sphere under no forces except the pressure of the surface. Show that its path

is given by the equation cot® =cotf cos¢, where g and ¢ are its angular co-ordinates.

AT
Or

fofadta 9 o gota vl & o ¥ fHE wu w1 ©Ro Ja i

Find the acceleration of particle in terms of polar co-ordinate in three dimensions plane.

RS-526-C [8]
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RS-526-D

B. A./B. Sc. (Third Year) Examination, 2020-21
MATHEMATICS
Paper : Third (Optional-D)
(Mathematical Modelling)

Maximum Marks : 40

Tie ;. Tt d el & F9T GITER 8 Hifod | Sl @1 YT @uel @ iy fear o W8T €

Note: Attempt questions of all three sections as directed. Distribution of marks is given with sections.

LHug-37
Section-A

(Y UvT)

(Objective Type Questions)
e . g g F IR AT FAF T 1 3F F E

Note: Attempt all the questions. Each question carries | mark.

1. 981 3T 1 =TI HifeL—

Choose the correct answer :

() oTahd HHER %+p(x)y:q(x) T HH E—
(a) 1
(b) 2

(c) 3
(d) =8 ¥ +E e

: : . dy :
The order of differential equation E—i_ p(x) y=q (X ) is

(@1

RS-526-D [1]

Sx1=5
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(b) 2
(© 3

(d) None of these
(i) y=px+logp 1 BA 7—

(@) y=cx+logc

(b) y=c+e*

(c) y=logex

(d) y=cx-logc

Solution of y=px+1logp is :
(@) y=cx+logc

(b) y=c+e*

(c) y=logex

(d) y=cx-logc

d’ d
(i) STERA FEHH ngf—xd—zw:ﬂogx H TH FAT e

(@) (61 +cz)x
(b) (61 +c, log x)x

(©) (cl+cx)ex
(d) =18 @ =E &

The C.F. of the differential equation

d’ d
xzﬁ—xd—z+y:2logx is :
(a) (cl+cz)x

(b) (61 +c, log x)x

RS-526-D [2]
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(iv)

)

RS-526-D

(©) (c1 + cx)e"

(d) None of these

fedta sy & GHEEE - GHeR B —
@ Yy tay., +ta,y, =0
®) yostay.,+by., +tcy, =0

© yutay +a,y=0

(d) T8 ¥ ®E &I

The second order homogeneous difference equation is given by :
@ Yoptay,., +ay, =0

®) yoatay.,+hy,, +¢y, =0

© Yutay +a,y=0

(d) None of these

Ife v et g oT% G @1 TH one Y B, @ v w1 W Em—
(@) 0
(b) 1
(© 2
(d) 3
If v is a pendant vertex of a directed graph G, then degree of v is :
(@ 0
(b) 1
(© 2
(d)3

[31]

PTO
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Eus-d

Section-B

(g I S ) 5x2=10
(Short Answer Type Questions)

T . Tt gie g F IW AT JEF 3HE Q Tk F97 B AT &1 TAF G 2 3Bl B &

Note: Attempt all five questions. One question from each unit is compulsory. Fach question carries 2

marks.
FhE-1
Unit-I
2. @ T @ gfg Aleed ol THesd |
Explain Linear & Non-linear growth model.
JTgar
Or
dy 2
™ xy"; y(0)=1
Solve :
dy 2
PRI y(0)=1
FhE-11
Unit-11
3. - @ Esw Afed wrewmsd |
Explain Richardson’s model for Arms Race.
JTgar
Or

2 2

TR v — Y =1 & TEHIUY Sl 1 GHIHIO Jd hifd |

+
a+n b+

RS-526-D [4] PTO
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2 2

zx + zy =1.
a+\N b +A

Find the orthogonal trajectories of the family of confocal conics

Fhe-111
Unit-1TT
. fm il & MR R Jupital 1 3T @ BT
G =667 x 10711 m¥/kg, radius = 2-58 x 10’ m
mass = 1-966 x 10% kg
Find the velocity of Jupital for the following data :
G =667 x 10711 m¥/kg, radius = 2-58 x 10’ m
mass = 1-966 x 10% kg
AT
Or

7E Tfa wfeafia wifse) 7@ wfs atesfam =t @ dmd fafen)

Define Planetary motions. Write two limitation of modelling planetary motion.

TEE-1V
Unit-1V

~ ~ ~

frefafed /T wed 9o 9fd wer & fog @ifqew qon fds aqe S e st

D,=-08 pt +60; S, =07 pt +40

Discuss the static stability & dynamic stability for the following demand and supply function.

D,=-08 pt +60; S, =07 pt +40
g
Or

SAHEA Tt Ta SRRl H TR AieferT wHemsd |
Explain population dynamics & genetics in mathematical modelling.
ThE-V
Unit-V
. faf=a or% = aRwfod wifSe) 59 7o 1 fafeg)

Define signed graph & write its properties.

RS-526-D [5]
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AT

Or
TG AT R |
Explain Weighted Graph.
wus-H
Section-C
(3 Sera we ) 5x5=25

(Long Answer Type Questions)
e . Tt e g F IH T JAF FHE G Gk T FAT A &1 gEE J9T 5 3 #1 &

Note: Attempt all five questions. One question from each unit is compulsory. Fach question carries 5

marks.
FHE-1
Unit-1
7. TA HifaT—
dy 2
(4y—cosy)a—3x =y 4§ y(0)=0
Solve it :
(4y—cosy)ﬂ—3x2:y if y(0)=0
dx Y=
AT
Or
frefafeg & fau arfas e 3§ T=fd T 3SR dhad gifee—
() onwEta frast
(i) frerfcomems frast
(i) gfgema fest

Give one example each from the real word for the following along with justification for your example :
(1) A non-linear model
(i) A deterministic model

(ii)) A logistic growth model

RS-526-D [6] PTO
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FRE-1I
Unit-11
8. =W d=0-25cm I au-5g KN WA A7 FNd K| AfE aw-5g 5000 m H = R feq aga
Y A e gy R € A ¥ g 9 e H e wme e

For a rain drop of diameter d = 0-25 cm find the terminal velocity. How long the drop takes to reach the
ground if it starts its descent in a cloud 5000 m high.

JreraT
Or

HHS H WE @ % SRE 91 H T YUY T HRO B 7 | AfE TR WH @ F YoTg w1 e

FE B @ e % ure et T fafe)

The respiratory flow of air in the wings is affected due to air pollution. If you have to model respiratory
flow, then write five essential for the model.

Ecaegil|
Unit-1TT
9. HUYTR o TeE-Tq & M fafew
Write Kepler’s law of motion.
JTgar
Or

GHIHTO 1 G A 6 HU—
u,+10u +9, =y

Determine the general solution of the equation :
u,+10u +9, =y

ThE-IV

Unit-1V
10. 8 hif—
yx+2 _4yx+1 +3yx =3x +1
Solve :

yx+2_4yx+1+3yx =3x+1

RS-526-D [ 7] PTO
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AT
Or

SIS wd geira # T wrsfar & wam W i fewnht fafeu

Write a short note on the application of difference equation in Economic & Finance.

TEE-V
Unit-V
11. TioE Aisfam @l FMEfm o6 & = W wHeEd |
Explain Mathematical Modelling through in terms of directed graph.

AT
Or

Fifat 9@ g — IS q91 3US T h G |

Explain Konigsberg Seven Bridges problems and its solution.

RS-526-D [8]


http://www.print-driver.com/order?demolabel-en

Printed Pages — 6

RA-295

B. A. (Third Year) Examination, 2020-21
HOME SCIENCE
Paper : First
(Food & Nutrition)

Maximum Marks : 40

T : T A @GSl F JUT GVITAR 8T Hiferd | STl BT fa4IST @uel & arg e o t@r g

Note: Attempt questions of all three sections as directed. Distribution of marks is given with sections.

LHug-A
Section-A

(agy uvT)

(Short Answer Type Questions)

FT : GY FI & I FIGTI GdF G 1 3HE H &l

Note: Attempt all the questions. Each question carries 1 mark.

1. HE W & T hifld—

Choose the correct answer :

RA-295

ST R HISH H .. rveR T BId 8—
() |l

(b) STEREF e

© 3%

(d) SR § TN

Good nutritional food carries........ nutrients :

@ Al

(b) Essentid Protein

[1]

5x1=5

PTO



(if)

)

RA-295

(c) Some
(d) None of above

(@ Lysre
(b) Cydine
() Tryptophane
(d) All of above

die e H FHH H . T BT §—
(a) WHifErEn (Terirese)

(b) fepew

(c) o&t =t

(d) 78 & i T

Deficiency of Iron leadsto .......... :

(@ Aneemia

(b) Rickets

(c) Beri Beri

(d) None of above

............. Sieog st 1 % B §—
() ek (YR 1 °H)

(b) St

(c) =meret T St

(d) SR |t

[2]

PTO



............. isthe sources of Vitamin B, :
(@ Pork

(b) Barley

(c) Ricebran

(d) All the above

) R %I AT ok G YR S §—

(@ =ree

(b) reheT

(c) feran

() 57 =i e

............... cooked by steam :

(@ Rice

(b) Dhokla

(c) Ddiya

(d) None of above
us-d
Section-B

(g I U9A) 5x2=10
(Short Answer Type Questions)

T : T e g F IH T IAF FHE G Tk FIT FAT AR &1 IAF T 2 bl H &

Note: Attempt all five questions. One question from each unit is compulsory. Each question carries 2

marks.
FHTE-|
Unit-l
2. SRR & givme fafed
Write definition of food.
AT
Or

RA-295 [3] PTO



U kT SRl ShifSTd |
Classify Protein.

3. WA & & fafed |

Write sources of Protein.

FUWI % FHR fafad |
Write types of mal nutrition.

4, A dau % S fafed|

Write functions of lron.

Ffsrm & s fafed |
Write functions of calcium.

5. 959 W0 & 3 fafed |

Write the aims of food preservation.

M g R feooft fafe
Write about basic food group.

RA-295

AT
Or

ZehTe-111

Unit-111

AT
Or

-1V

Unit-1V

AT
Or

Unit-V

[4]

PTO



6. 94 GNI WIS UM & @ fafed |
Write the advantages of cooking by steam.

3reran
Or
a9 ) UM @ faftEl % ger fafed |
Write the types of cooking methods by fat.
QTues-q
Section-C
(d 3 ) 5x5=25

(Long Answer Type Questions)
TS : T e g F IH T IAF FHE G Tk FIT FAT AR &1 IAFH T 5 3Bl F &

Note: Attempt all five questions. One question from each unit is compulsory. Each question carries 5
marks.

ECaES]
Unit-1
7. frefafea & 9 fdt & & &, 7R @ ®H F TF 9 A0 F W fated |

(i) et

3Tqat
(i) =&
Explain sources, types and deficiency diseases of any one of the following :
(i) Carbohydrate

Or

(i) Fat

8. FUMU 3@l @RS W T Hery fafad |
Write an essay on Mal nutrition or Protein.

RA-295 [5] PTO



ZehTe-111

Unit-111
0. i@ % WM, & T el & SR FHEE |
Explain general functions of water and causes of dehydration.

AT
Or

hiceEH SAgen Wi au ® wH W BN ol AT THSE |

Explain deficiency disease of calcium or Iron.

TSIV
Unit-1V
10. 87 T T HEw qHEAES |
Explain importance of food preservation.
3reran
Or
YR g ¥ & o ¥ fafe )
Write about basic food groups.
TSV
Unit-V
11. 3RR 3THNE & fagra fafad |
Write principlesamea planning.
3reran
Or

SAe Td qe w1 IS % e Jod W U9 TSl § 9HenEd |
Explain effects of boiling and frying on nutritive value of food.

RA-295 [ 6]
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RA-296

B. A. (Third Year) Examination, 2020-21

HOME SCIENCE
Paper : Second
(Extension and Communication)

Maximum Marks : 40
T ;. gyl T GUSl F FIT [RVIAR g HId | STl @1 [T @l ¥ qrey fear 5 tET #1
Note: Attempt questions of all three sections as directed. Distribution of marks is given with sections.
Lus-H
Section-A

(T we ) 5x1=5

(Short Answer Type Questions)
e : gy g F SW T FAF T 1 3F B &)

Note: Attempt all the questions. Each question carries 1 mark.

1. HE W H FIA hifld—

Choose the correct answer :

() STt sl qen sifueafa@l 1 STeM YeH FEcldl §—

() H=R
(b) sa=iia
(c) o
(d) T
Theimporting on interchanging of thought is called :
(@ Communication
(b) Chating
(c) Medting
(d) Dance

RA-296 [1] PTO



(i)

(if)

)

RA-296

TS HER % foru Suge fafy &—

(8) I HE

(b) w3t

() weiA

(d) TraeR

Perfect-method for experimental communication is:
(@ Flash Card

(b) Puppets

(c) Demongration

(d) Interview

TR T 5R Hae | Gaesd | O 1 aifet—
(@) Y k1 JH

(b) SrE e

(C) §o T THA K I FrIal

(d) S =it

Qualities of communication should be communication by News paper :

(8 Knowledge of language

(b) Ability of writing

(c) Ability to collect-information
(d) All of above

‘g’ B oeE T Anfeu—

() w&m

(b) TrEm

(c) 993

(d) Swd @t

Points should be considered for exhibition :
(@ Place

(b) Wesather

(c) Time

(d) All of above
[2]

PTO



(V) STHIEN T YR TERT F5 §—
CIEEH
(b) feeedt
(C) hetehdn
(d) A==
Start broadcasting center of Akashwani is:

(&) Bombay
(b) Dehi

(c) Cdcutta
(d) Madras

Lug-d
Section-B

(g I UIA) 5x2=10
(Short Answer Type Questions)
T : T e FHH F IH T IAF FHE O Tk FIT FAT AR &1 IAFH T 2 Bl H &

Note: Attempt all five questions. One question from each unit is compulsory. Each question carries 2
marks.

ECaER
Unit-l
2. HYR YER A Sl Teh GY HEAH § ? AR

Explain communication is the powerful medium of Extension work.

3T
Or
IR o HEd W YN Sl |
Throw alight on importance of communication.
ZehTE-| |
Unit-11

3. H§UR F1 ¢ TH 3HF Ie¥d fafau)

What is communication and write its purpose.

RA-296 [3] PTO



AT
Or

Y9 i F9R H "ec fafgu)

Write the importance of Demonstration in Communication.

ZehTe-111

Unit-111
4. fafeq d=r wd foRmaE fafeu)

Write the written communication and characteristics.

3UqAT
Or
fganTt siafshardes HER T8 HifeT |
Explain the two way interactive communication.
RS-V
Unit-1V

5. ‘aen’ gmfes gfEewon § EER w1 e ¥ SRy
Discuss ‘ Tour’ is medium of communication as group approach.

AT
Or

ST T Hell o fau &M W@ 4 9 fafaa )
Write the points should be considered for Exhibition and fair.

THRE-V

Unit-V
6. el ¥ ywia &Ri%A & 99 ¥ Iutar fafea |
Write the utility in communication of broadcasting programme in Radio.

AT
Or

Tefifa g TeE #t geR H faand fafau)
Write the properties of Display visua Aidsin communication.

RA-296 [ 4]



Lus-H
Section-C

(e swlT we) 5x5=25
(Long Answer Type Questions)
T : T e FEH F IH AT JAF FHE G Tk FIT FAT A0 &1 IAFH T 5 Bl F &

Note: Attempt all five questions. One question from each unit is compulsory. Each question carries 5
marks.

FhTE-|
Unit-1
7. Har T gfRan o weEqul Aied ¥ ¥ foRdl Tw Afed @1 9uiF S|
Explain the any one model from communication education process important mode .

AT
Or

TR 1 A TH STIURUN hl WY hHifoT |

Discuss the meaning and concept of communication.

FehTs-||
Unit-11
8. TS 3= TWdR o TUN i AT HifeT |
Explain the qualities of good communication.
3reran
Or
ToR i fafeai @1 gfewr 9o Fifs)
Explain the methods of communication in detail.
ZehTe-111
Unit-111
9. HER & YRl T UM HifeC |
Discuss the types of communication.
3reran
Or

RA-296 [5] PTO



TR FEHA FEOR H @YU HEAH § | THART |

Explain the Televison programme s the important medium of communication.

ZehTS-1V
Unit-1V
10. SHYHE HIR i HRA i |
Explain the mass communication.
3T
Or

Ffemd g ¥ HOR & SN TH YRl 1 JUH HifoC |

Explain the types and utility of communication asindivisual approach.
FRE-V
Unit-V

11. Fefafaa fedt wer W feooit fafaw)

CRER

(b) T

(c) Tesh

Write an essay any one':

(@ Radio

(b) Exhibition

(c) Drama

RA-296 [ 6]
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RA-293

B. A. (Third Year) Examination, 2020-21

FUNCATIONAL HINDI

Paper : First

( vEruT ud Safuar o fagia)

Maximum Marks : 40

T ;. gyl T GUSl F FIT [GVIAR g HId | STl @ [T @l ¥ qre fedr 5 tET #1

FiT : [FHElalad g4t g9 & W FISTTI TAF 97 1 b H &

Eug-A

(g uwT)

1. HE W & FIA hifld—

0]

(if)

RA-293

SRS ShIAET SHEER AETH §—

@ 3%
(b) 7=

(©) ¥a-#=A
(d) Tfsa

TR & AT . 9d ¥ feif@ g =nfeu—

HEAIT FaER H YA §F ot gl e §—
CREIEL

[1]

5x1=5

PTO



(ORERISEEEED
(c) Hifem
(d) TS

(v) T®a SEHE 1 O e T
(@) et
(b) frex
(ORERELI
(d) @t

() SafFar @ ... gAY gl §—

(@ AT
(b) TSR
(c) <y
(d) ShifEs
G us-d
(oY 3T qIT)

T : gl g F S JTTI IAF FIT o HF F &

2. I &1 € 2 3! JIR Y I WA ?
arera

Sufaar 9 = qed ¥ 2 gHeET)

3. A H 9 F WEI TN A AMCC 2

AT

reifHer Iis 995 w9 e san § 2 fafeu

RA-293 [ 2]
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TUe-q
(rd 3= we) 5x6=30
FiT : [FHElafad g4t g9 & 3T FISTI TAF 97 6 HF F &1

4. THRO & Fovd fasia @ € 7 9uEne

AT

SHEER HeAY o ®Y H STRRETN i ST HEET |

5. WTeTehRedl i foagmant fafe |
3reraT

T T g9 WEAH W H <R AR |

6. STERIYIETUN § WO 1 &Y 1 BIaT & 2 fafEu)

areram
TIA Ay as et syaferi W g e

7. JAMHAT F EAYURUT S T HI gL ThA ITHT a9 & U1 fafEu |

YT
e et 9 faswfad €9 arch ISvRyes feemd w1 it

8. 3TMAl + AEERh WEI TF Fd gU fhel ITH Hl HehodaT Tl TIT HifoT |
AT

ITM wfya & Sgifas 981 a1 Ty ifeu)

RA-293 [ 3]
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RA-294

B. A. (Third Year) Examination, 2020-21
FUNCATIONAL HINDI
Paper : Second
(HIRT iR fa=<t)

Maximum Marks : 40

T : Y A @GSl F gUT GVIAR 8T Hiferd | STl BT A4S @uel & arg fear o w@r g

Que-3
(Tgg ue )
e : frffaa T 7o % W Y TAF F9T 1 5% B E
1. () ‘wmg @ fe<t w9 fafau)
(i) wHge ¥ ‘fe<i <=fm’ &t 98 fafu (Fedier) w1 AW faf@u)
(i) HIR F THRRA H AYHF Toheieh v A4 faf@n)
(v) o<t & forelt @& ‘& S99’ @1 99 faf@n)
v) &<t & @ ‘"’ @1 99 fafen|
G us-a

(g 3T UIA)
T ;. gl g F S JTTI GAF FIT o HE F &

2. F & fet Foit ged & IR # feuoft fafaw)

AT

‘T’ W = glawstt | yem eifau|

RA-294 [1]
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3. SEheU Ufsciohed T Yehrsl SIfaid |
areran
AR TRl | fe<l oed & Il W TR Sifad |
Gus-|
(<rd swla we ) 5x6=30
e : frEfaragd G T & IR AT TAF T 6 F B 8

4. wrEEde AR fel @ fafv= feafmdl = v sife |
areran

Frge iR &<l ki ol FHEET| el PR W et oed & el W Y™ Sifad |

5. fe<t FreEer WA & faeman fafaw)
areram

et § FreeX gadt e FAr W YRR Sffad

6. fe<<t = dedEe W THEl Sifdd |
3Tera
&=t Wwive Yeiyd sl THEET|
7. R W o faft # sed fawm W ey fafan

AT
fafay @or "l ¥ fel o HFEied WEY i FTAYRON hl T HIFC |

8. HFN W 3IuAH fel &l Ui Il W o fafaw|
AT

FR W fe<t e & g9 iR THEE W aw fafaw

RA-294 [ 2]
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